

A Service of

ZBW

Leibniz-Informationszentrum Wirtschaft Leibniz Information Centre for Economics

Belzil, Christian; Hansen, Jörgen

Working Paper The Evolution of the US Family Income-Schooling Relationship and Educational Selectivity

IZA Discussion Papers, No. 13279

Provided in Cooperation with: IZA – Institute of Labor Economics

Suggested Citation: Belzil, Christian; Hansen, Jörgen (2020) : The Evolution of the US Family Income-Schooling Relationship and Educational Selectivity, IZA Discussion Papers, No. 13279, Institute of Labor Economics (IZA), Bonn

This Version is available at: https://hdl.handle.net/10419/223721

Standard-Nutzungsbedingungen:

Die Dokumente auf EconStor dürfen zu eigenen wissenschaftlichen Zwecken und zum Privatgebrauch gespeichert und kopiert werden.

Sie dürfen die Dokumente nicht für öffentliche oder kommerzielle Zwecke vervielfältigen, öffentlich ausstellen, öffentlich zugänglich machen, vertreiben oder anderweitig nutzen.

Sofern die Verfasser die Dokumente unter Open-Content-Lizenzen (insbesondere CC-Lizenzen) zur Verfügung gestellt haben sollten, gelten abweichend von diesen Nutzungsbedingungen die in der dort genannten Lizenz gewährten Nutzungsrechte.

Terms of use:

Documents in EconStor may be saved and copied for your personal and scholarly purposes.

You are not to copy documents for public or commercial purposes, to exhibit the documents publicly, to make them publicly available on the internet, or to distribute or otherwise use the documents in public.

If the documents have been made available under an Open Content Licence (especially Creative Commons Licences), you may exercise further usage rights as specified in the indicated licence.



WWW.ECONSTOR.EU



Initiated by Deutsche Post Foundation

DISCUSSION PAPER SERIES

IZA DP No. 13279

The Evolution of the US Family Income-Schooling Relationship and Educational Selectivity

Christian Belzil Jörgen Hansen

MAY 2020



Initiated by Deutsche Post Foundation

DISCUSSION PAPER SERIES

IZA DP No. 13279

The Evolution of the US Family Income-Schooling Relationship and Educational Selectivity

Christian Belzil CREST, CNRS, Paris Polytechnic Institute, IZA and CIRANO

Jörgen Hansen Concordia University, CIREQ, CIRANO and IZA

MAY 2020

Any opinions expressed in this paper are those of the author(s) and not those of IZA. Research published in this series may include views on policy, but IZA takes no institutional policy positions. The IZA research network is committed to the IZA Guiding Principles of Research Integrity.

The IZA Institute of Labor Economics is an independent economic research institute that conducts research in labor economics and offers evidence-based policy advice on labor market issues. Supported by the Deutsche Post Foundation, IZA runs the world's largest network of economists, whose research aims to provide answers to the global labor market challenges of our time. Our key objective is to build bridges between academic research, policymakers and society.

IZA Discussion Papers often represent preliminary work and are circulated to encourage discussion. Citation of such a paper should account for its provisional character. A revised version may be available directly from the author.

ISSN: 2365-9793

IZA – Institute of Labor Economics

Schaumburg-Lippe-Straße 5–9	Phone: +49-228-3894-0	
53113 Bonn, Germany	Email: publications@iza.org	www.iza.org

ABSTRACT

The Evolution of the US Family Income-Schooling Relationship and Educational Selectivity^{*}

We estimate a dynamic model of schooling on two cohorts of the NLSY and find that, contrary to conventional wisdom, the effects of real (as opposed to relative) family income on education have practically vanished between the early 1980's and the early 2000's. After conditioning on a cognitive ability measure (AFQT), family background variables and unobserved heterogeneity (allowed to be correlated with observed characteristics), income effects vary substantially with age and have lost between 30% and 80% of their importance on age-specific grade progression probabilities. After conditioning on observed and unobserved characteristics, a \$300,000 differential in family income generated more than 2 years of education in the early 1980's, but only one year in the early 2000's. Put differently, a \$70,000 differential raised college participation by 10 percentage points in the early 1980's. In the early 2000's, a \$330,000 income differential had the same impact. The effects of AFQT scores have lost about 50% of their magnitude but did not vanish. Over the same period, the relative importance of unobserved heterogeneity has expanded significantly, thereby pointing toward the emergence of a new form of educational selectivity reserving an increasing role to noncognitive abilities and/or preferences and a lesser role to cognitive ability and family income.

JEL Classification:	I2, J1, J3
Keywords:	inequality, education, family income

Corresponding author:

Christian Belzil Department of Economics CREST - Ecole Polytechnique 91128 Palaiseau Cedex France E-mail: christian.belzil@polytechnique.edu

^{*} Financial support from Investissement d'Avenir (ANR-11-IDEX-0003/ Labex Ecodec/ANR-11-LABX-0047) and Social Sciences and Humanities Research Council of Canada (grant 435-2017-0129) is gratefully acknowledged. We thank Philippe Belley, Evgenia Dechter, Lance Lochner, Michael Lovenheim, Arnaud Maurel, Douglas Webber, and participants at the IAAE 2018 Conference (Montreal) and the ESEM 2019 (Manchester) for comments and exchanges. We also thank Ed Vytlacil and four anonymous referees for their insightful comments. The usual disclaimer applies.

1 Introduction and Motivation

In recent years, a relatively large number of papers have studied the evolution of education inequalities between high-income and low-income classes in the US. While some have stressed the existence of an increasing gap between top and bottom quartiles (Belley and Lochner, 2007, Lochner and Monge-Naranjo, 2012, Avery and Kane, 2004 and Bailey and Dynarski, 2011), others have reported a more stable relationship (Kinsler and Pavan, 2011 and Chetty et al., 2014).¹

In this paper, we take a different path than most of the existing literature and investigate the evolution of the effects of real family income (as opposed to relative income) on education outcomes. We show that income effects have practically vanished between the 1980's and the early 2000's and that the effects of AFQT scores have also decreased.

To do so, we estimate a dynamic model of schooling with unobserved heterogeneity on two cohorts of the National Longitudinal Survey of Youth (the 1979 cohort and the 1997 cohort) and compare the evolution of the effects of family income and Armed Forces Qualification Test (AFQT) scores on agespecific grade progression probabilities and resulting educational outcomes (years of schooling and college participation).

Our approach differs from the existing literature in three main dimensions. First, we measure the change in the effect of real income as opposed to the evolution of education gaps between high-income and low-income sub-populations. The evolution of the effect of parental income on higher education is impossible to infer solely from results emphasizing the role of relative income because the latter are potentially imputable to both a change in income distribution (creating an income effect) as well as a change in the effect of real family income which could be driven by a change in the cost or in some of its determinants.

While it is widely recognized that income growth has been more significant among upper income classes, and that the sticker price of four-year colleges has also increased faster than inflation, other institutional changes affecting higher education decisions may have tempered the effects of income inequality and tuitions and thereby reduced the effect of real income.

As documented in Page and Scott-Clayton (2015) and in Dynarski and Scott-Clayton (2013), there has been a significant increase in state and fed-

¹A more thorough review of the literature, along with motivation arguments, are found in an appendix located in a supplementary file.

eral financial aid programs. Many of those have been designed in order to reduce the cost of college for low income people (Belley et al., 2014). At the same time, tax regulations have contributed to drive the net price of two-year colleges close to zero (Abel and Deitz, 2014). Also, and as documented in Hoxby (2009), the substantial increase in college enrollments observed between the early 1980's and the early 2000's was mostly due to increased capacity at lower quality (and lower tuition) institutions. Finally, many papers in the structural literature have stressed that education choices are largely explained by a non-pecuniary dimension (the consumption value). If its importance has expanded relatively more among lower income sub-populations than among high income families (already endowed with a high taste for education), it could substantially damp the effect of tuition increases. For all these reasons, the evolution of real family income effects remains an open question.²

A second difference is that we allow income effects to vary with age within each cohort using 3 different intervals; from 16 to 18, from 19 to 21, and from 22 to 25.³ There are good reasons for making a distinction between agespecific income effects. At age 16, individuals progress toward high school graduation and are fully dependent of their parents. At age 19, individuals are likely to still be dependent of their parents but start experiencing early college transitions that are more costly. At age 22, grade transitions are less frequent and individuals are likely to be less dependent.⁴ As the degree of dependence on parental income may change substantially as individuals are aging, it is conceivable that the overall relationship between family income and schooling is driven by some age-specific dependence. On top of this, the parent-child relationship may have evolved over the period of time elapsed between the 1979 and the 1997 cohorts, and it is particularly important to know if changes in income effects across cohorts have been spread uniformly between late teenage years and early adulthood.

Finally, a third difference which turns out to be fundamental, is that we control for dynamic selection within each cohort and therefore separate

 $^{^{2}}$ The increasing effect of parental income on educational outcomes is invoked as one of the main motivations for incorporating credit (liquidity) constraints within structural models of human capital accumulation. This is the case in Lochner and Monge-Naranjo (2010), Johnson (2013), Abbott et al (2016) and Hai and Heckman (2017).

 $^{^{3}}$ In our terminology, and to take an example, a transition at age 16 refers to a grade change (or lack thereof) from 16 to 17. In our data, the last transition is from 25 to 26.

⁴Note that according to US federal financial aid regulations (FAFSA), an individual becomes automatically independent from the parents only at age 24.

changes in the effects of real income, AFQT and family characteristics from potential movements in the distribution of unobservables. Note that these last two dimensions of our analysis (the effect of aging on grade transitions and the incorporation of unobserved heterogeneity) may not be tackled with standard linear regression models.

Throughout the paper, we use the term "unobserved heterogeneity" to designate any unmeasured factor such as taste for schooling, monetary or non-monetary costs of education or ability and motivation, which remains significant after controlling for AFQT scores, non-cognitive skill measures such as the Rotter Locus of Control (measuring the internal control of an individual) and the Rosenberg Self-Esteem Scale (measuring the degree of approval toward oneself), and other characteristics. Although those noncognitive skill measures are observed in the NLSY79 only, we develop an approach that makes use of a predicted non-cognitive skill component using individual and family characteristics observed in both cohorts. We then allow for unobserved heterogeneity (unobserved type probabilities) to depend on predicted non-cognitive skill measures. These measures being themselves correlated with family background variables, family income and AFQT's, we need not assume orthogonality between unobserved heterogeneity and measured characteristics such as income.

Documenting the importance of dynamic selection is crucial. First, if choices are truly sequential and unobserved heterogeneity is important within a given cohort, ignoring it is likely to bias income and AFQT effects measured within a given cohort. On top of this, if the relative importance of unobserved heterogeneity changes across cohorts, any comparison between marginal effects of income obtained from OLS estimates across different cohorts becomes completely uninformative even if income is an exogenous regressor (or subject to some randomization procedure at the start of the process).⁵

The incidence of changes in educational selectivity has also attracted attention among those involved in education policies. According to the National Center for Education statistics, the yearly flow of individuals graduating with a Bachelor's degree has fluctuated between 1.5 and 3.0 million per year between 2005 and 2018. These numbers are far in excess of those

⁵The notion of dynamic selection plays a key role in many areas of economics and econometrics. Its statistical implications are discussed in Lancaster (1990) in the context of duration and transition data analysis and in Cameron and Heckman (1998) within an optimal schooling model. We provide an intuitive illustration in the section "Background Material" found in a supplementary file.

for the early 1980's.⁶ Because this large increase in enrollments was more common at lower quality institutions, this has most likely driven important changes in the educational selection process and contributed to a reduction in higher education selectivity. It is therefore important to take this into account when measuring the evolution of income effects.

Following the existing literature, we adopt a nonstructural (or a semistructural) approach to the extent that we treat family income and other individual and family characteristics as exogenous regressors. This means that we can actually measure the reduced-form effect of real income on grade attainment at any specific age of interest and compare it directly with results obtained from regression methods and which have been reported in the existing literature.

The main findings are the following. Contrary to conventional wisdom, there is no evidence that real family income has become a more important determinant of higher education. Our results indicate that point estimates of the effects of family income on grade progression, highest grade completed and college participation have practically vanished. Between the early 1980's and the early 2000's, income effects have lost between 30% and 80% of their importance on grade transition probabilities, depending on age and family income at which those are measured. As indicated by their standard errors, the effects of income and AFQT are as precisely estimated in both cohorts, but income effects are often not significantly different from 0 in the 1997 cohort. Even if their differences across cohorts are not always statistically significant, there is virtually no age level and no income level at which income and AFQT effects have increased over time.

In the 1979 cohort, a \$10,000 difference in income raised the probability of grade progression at age 19 by 0.016, highest grade attainment (at age 25) by 0.073 year and the population proportion of college enrollees by 1.4 percentage point. In the 1997 cohort, the same real income difference raised grade progression probability by 0.004, highest grade completed at age 25 by 0.027 year and college participation by 0.3 percentage point. As a result, and after conditioning on observed and unobserved characteristics, a \$300,000 differential in family income generated more than 2 years of education in the early 1980's, but only one year in the early 2000's. Put differently, a \$70,000 family income differential raised college participation by 10 percentage points in the early 1980's. In the early 2000's, a \$330,000

⁶Source: 120 years of American Education: A Statistical Portrait, National Center for Education Statistics, 1993.

income differential had the same impact on college participation. Despite the growing frequencies of belated grade progression (those taking between 22 and 25) between the 1980's and the early 2000's, transitions taking place beyond 22 appear to be entirely disconnected from family income in both cohorts.

Either in the early 1980's or in the early 2000's, AFQT scores have been the most important observed determinant of grade progression and education outcome in the NLSY. However, and aside from pre-college transitions, the effects of AFQT scores on grade transitions have also decreased between the 1980's and the early 2000's. A 1/3 standard deviation increase in AFQT raised grade progression probability by 0.050 at age 20 in the 1979 cohort but by only 0.016 in the 1997 cohort. The marginal effects for the older cohort translated into increases of 0.16 year of schooling at age 20 and 0.324 at age 25. In the early 2000's, the corresponding marginal effects had dropped to 0.084 (at age 20) and 0.143 (at age 25). For belated college transitions, the AFQT effects dropped from 0.035 to 0.008. All in all, the effects of AFQT scores on schooling attainments measured at any point between age 19 and 25 have been reduced by more than 50% between the early 1980's and the early 2000's.

It is important to note that the disappearance of parental income and AFQT score effects are neither the by-product of the allowance for a correlation between unobserved heterogeneity and family income, nor dependent on extreme income levels. Results obtained with orthogonal unobserved heterogeneity are similar and others obtained when removing the top and bottom 1% income levels also disclose the same patterns.

Our findings suggest an interesting phenomenon. Classical educational selection based partly on cognitive abilities and/or family income (present in the 1979 cohort) is being gradually dominated by a different form of selection which reserves a more important role to non-cognitive abilities and/or preferences and a lesser role to cognitive ability and family income.⁷ Put differently, the evolution of income and AFQT score effects indicate that college expansion has benefitted mostly lower income and lower ability individuals. Indeed, the decrease in the effect of real income on higher education has most likely been sufficiently strong to counteract the increase in income dispersion and thereby prevent an increasing education gap between high

⁷Interestingly, Deming (2017) analyzes changes in the wage returns to skills using the NLSY79 and NLSY97 and finds that labor market return to social skills was much greater in the 2000s than in the mid 1980s and 1990s.

and low family income families.

Not accounting for dynamic selection would inflate income effects on both grade progression probabilities and schooling attainments. Because unobserved heterogeneity is found to be relatively more important in the early 2000's, the inflation would be more serious for the 1997 cohort. While ignoring unobserved heterogeneity would still reveal decreasing income effects, it would do so from inaccurate within-cohort income effect estimates. Moreover, ignoring dynamic selection would hide the fact that income effects have practically vanished.

The remaining sections of the paper are structured as follows. In Section 2, we describe the data. In Section 3, we present our econometric model. In the following section, we describe the evolution of the marginal effects of income and AFQT scores. In Section 5, we illustrate the implications of ignoring dynamic educational selectivity. In the final section, we present a summary of the results along with some economic interpretation and avenues for future research.

2 The NLSY79 and NLSY97 Cohorts

Our analysis is based on data from two cohorts of the National Longitudinal Survey of Youth, NLSY79 and NLSY97. The NLSY is one of the most commonly used data set in the US. Because we basically follow the same selection criteria as those laid-out in papers mentioned earlier (Belley and Lochner, 2007, Kinsler and Pavan, 2011, and others), we provide details about sample selection in an appendix found in a supplementary file.

As is common in the earlier literature, we use AFQT scores to control for cognitive ability. AFQT scores are an average of 4 components of the Armed Services Vocational Aptitude Battery (ASVAB) and should therefore contain a lesser measurement error level than each component introduced separately.⁸ We use scores provided by Altonji et al. (2012) which are adjusted to improve comparability across cohorts. To take into account differences in AFQT's that could be explained by differences in education and age when it was measured, we regress AFQT scores on age and education and use the standardized value of the residual as the cognitive ability indicator.

For each individual, we measure schooling attainment as indicated by

⁸The AFQT components are Arithmetic Reasoning, Word Knowledge, Paragraph Comprehension, and Mathematics Knowledge.

the highest grade completed by each given age, and do so between age 16 until age 26. Measuring schooling until grade transitions from age 25 to 26 constitutes a major difference with most of the papers found in the literature (such as Belley and Lochner, 2007) who investigated the determinants of schooling attainments by age 21 (focussing on college participation).

To motivate our approach, it is informative to examine the fraction of the population experiencing a grade progression between age 16 and 25 and for both cohorts (see Figure 1). First, and not surprisingly, the proportion of the population experiencing a grade progression tends to be higher in the 1997 cohort than in the 1979 cohort (except at age 16). Second, it is interesting to note that for the 1997 cohort, the proportion remains between 10% and 20% between age 22 and 25. For the 1979 cohort, the proportion is smaller but remain significant.

As is done in the literature, we use information on family income for each individual at ages 16 and 17, if available, and construct an average income measure. If income is only available for one of the years, the average income is replaced by that income. If no income information is available for these ages, we consider income at earlier ages if available in order to minimize the number of individuals dropped because of missing income. For both cohorts, we express income in year 2000 dollars using the CPI for all urban consumers.

Some of the main characteristics of our samples are found in Table 1 (devoted to summary statistics). First, mean family income grew by about 21 percent (from \$54,155 to \$65,572). This corresponds to a 1 percent growth rate per year, which matches aggregate measures provided by the Bureau of Labor Statistics.⁹ Other studies, including Kinsler and Pavan (2011), Lovenheim and Reynolds (2011), Castex and Dechter (2014) and Nielsen (2015) report similar family income growth.¹⁰

As is well known, income dispersion has increased even more over this period. In our sample, the standard deviation of family income increased from \$33,308 in the 1979 sample to \$58,136 in the 1997 sample. Not surprisingly, family income is higher than average among college entrants. Finally, schooling attainments have increased at all income quartiles but the largest increase has been observed for those in the third family income quartile (from 13.3 to 14.1 years).

 $^{^{9}\}mathrm{According}$ to the Bureau of Labor Statistics (variable MEFAINUSA672N), median household income grew by 20.6 percent between 1980 and 2000.

¹⁰Castex and Dexter (2014) report changes in the logarithm of income but their sample data also discloses a growth in real income levels which is comparable to ours.

In a supplementary file appendix, we evaluate the impact of real income on highest grade completed obtained from standard OLS regressions and compare those with estimates measuring differences in schooling by income quartiles.

3 A Model of Educational Attainments

To construct our model, we build on the literature on reduced-form models of schooling such as Cameron and Heckman (2001) and Ashworth et al. (2020) and in which intertemporal utilities are represented by linear (in the parameters) functions and in which unobserved heterogeneity plays a key role. Our model uses a reduced-form representation of the grade attainment process but also allows for potential discontinuities.

3.1 Choice Probabilities

We assume that the decision process starts at age 16. The choice variable is denoted d(a), where d(a) = 1 when an individual decides to invest in an additional grade attainment at age a and where d(a) = 0 when choosing the alternative option. We denote accumulated schooling by age a as G(a) and accumulated non-school periods as N(a). At each age a, every individual therefore chooses between accumulating an additional grade or to involve in other activities. When d(a) = 1, it follows that G(a + 1) = G(a) + 1.

To avoid the estimation of an excessively large number of parameters, we allow the parameters of the model to vary with age according to 3 different levels. The first level captures the effect of regressors and unobserved factors on progression between 16 and 18. The second one covers age 19 until 21, while the third one deals with transitions from age 22 to 25.

Given age, we allow grade progression to depend on an indicator denoted $G^{hs}(a)$ equal to 1 when an individual has completed high school and 0 if not. We do so to avoid collinearity problems as grade attainment is correlated with age. It allows us to capture changes in the cost of education when reaching post-high school education.

The school choice probabilities are defined as follows:

$$\Pr(d_i(a) = 1 \mid Z_i(a)) = \bigwedge \{\beta_{0i}^{16} + \beta_Z^{16} \cdot Z_i(a)\} \text{ for } a = 16, 17, 18$$

$$\Pr(d_i(a) = 1 \mid G_i^{hs}(a), \ Z_i(a)) = \bigwedge \{\beta_{0i}^{22} + \beta_{hs}^{22} \cdot G_i^{hs}(a) + \beta_Z^{22} \cdot Z_i(a)\} \text{ for } a \ge 22$$

where

$$\begin{array}{rcl} \beta_{0i}^{19} & = & \delta_0^{19} + \delta_1^{19} \cdot \beta_{0i}^{16} \\ \beta_{0i}^{22} & = & \delta_0^{22} + \delta_1^{22} \cdot \beta_{0i}^{16} \end{array}$$

and where δ_0^{19} , δ_1^{19} , δ_0^{22} , δ_1^{22} , β_{hs}^{19} , β_{Z}^{22} , β_Z^{19} , β_Z^{22} are parameters to be estimated. The vector $Z_i(a)$ is equal to $\{N_i(a), X_i, birthyear, AFQT_i, Fam.Income, Fam.Income^2\}$, \bigwedge (.) denotes the logistic distribution function, β_{0i}^{16} is an unobserved heterogeneity term (defined below) and β_Z^{16} is a vector of parameter to be estimated. The vector X_i contains individual and family characteristics detailed below and $birthyear_i$ is a set of binary indicators for the year of birth.

3.2 Unobserved Heterogeneity and the Initial Condition

In line with Bajari, Fox and Ryan (2007) and Train (2008), we adopt a fixed mass points approach by choosing grid points covering the entire range of possible values and estimate all associated frequencies (type probabilities) while adapting this approach so to incorporate the endogeneity of initial conditions. To start, we assume M support points. Each type m is endowed with a vector $\{\beta_{0m}^{16}, \beta_{0m}^{19}, \beta_{0m}^{22}\}$. We impose a positive correlation by forcing both δ_1^{19} and δ_1^{22} to be non-negative.

In an ideal setting, we would access measures of non-cognitive skills for both cohorts and evaluate changes in its effect on grade attainment as we do for AFQT scores. Unobserved heterogeneity would then be interpreted as a residual factor prevailing after conditioning on cognitive and non-cognitive factors.

This solution is however impossible to implement. There exist some noncognitive skill measures in the NLSY but they are only available in the 1979 cohort. Those are the Rotter Locus of Control index and the Rosenberg selfesteem score. The Rotter Locus of Control is designed to measure the extent to which individuals believe they have control over outcomes through selfmotivation or self-determination (internal control) as opposed to the extent that the environment controls their lives (external control). The Rosenberg Self-Esteem Scale is a 10-item scale measuring the self-evaluation that an individual makes. It describes a degree of approval toward oneself. To circumvent orthogonality conditions between unobserved heterogeneity and observed characteristics (family income, AFQT scores, and others), and in order to make use of the availability of non-cognitive measures in the 1979 cohort, we proceed as follows.

First, we obtain a predicted Rotter scale (denoted \hat{L}_i) and a predicted Rosenberg scale (denoted \hat{R}_i) by regressing them on all observed characteristics and AFQT scores using the 1979 cohort. We then use the parameters to construct predicted values for both the 1979 and the 1997 cohorts, assuming a stable relationship between the measures and parental background variables. This provides us with a vector of predicted values for each cohort.¹¹

We then build a distribution of unobserved heterogeneity incorporating those values.¹² While it would have been possible to use the actual scores for the 1979 cohort, this would have introduced an asymmetry between cohorts. Instead, we preferred to use predicted scores in both cohorts. To capture both the correlation between unobserved heterogeneity and individual characteristics (including AFQT scores) and the endogeneity of grade attainment by age 16 (the initial condition), the type proportions, $p_m(.)$, are allowed to depend on the initial grade level, G(16), and on predicted values of the Rotter and the Rosenberg scales (\hat{L}_i and \hat{R}_i) respectively. That is,

$$p_m(G_{16}, \hat{L}_i, \hat{R}_i) = \frac{\exp(\tilde{p}_m + \tilde{p}_{mG} \cdot G_i(16) + \tilde{p}_{mL} \cdot \hat{L}_i + \tilde{p}_{mR} \cdot \hat{R}_i)}{1 + \sum_{j=2}^{M} \exp(\tilde{p}_j + \tilde{p}_{jG} \cdot G_i(16) + \tilde{p}_{jL} \cdot \hat{L}_i + \tilde{p}_{jR} \cdot \hat{R}_i)}$$

While this approach is based on the maintained assumption that Rotter and the Rosenberg scores are stable across cohort (and that their correlation with characteristics are also stable), the flexibility of the parameters \tilde{p}_{mL} and \tilde{p}_{mR} which can vary across cohorts, allows us to measure variations in the relative importance of unobserved heterogeneity. We can also compare our results with those obtained assuming orthogonality in order to examine to what extent our results are affected by the allowance for correlated effects.

¹¹The results of those OLS regressions are found in Table S6 in a supplementary file.

¹²A more ambitious alternative option (which we follow in a companion paper) would be to make use of the ASVAB measurement components in both cohorts, along with the components of the Rotter index and the Rosenberg index, and estimate the stationary (across cohort) distribution of cognitive and non-cognitive factors while allowing those to depend on observed characteristics.

3.3 Estimation

We estimate the model by mixed likelihood techniques. Each individual i's grade attainment progression history is contained in the following vector

$$\{G(16)_i, d_i(a=16), d_i(a=17), \dots d_i(a=25)\}$$

and the likelihood function for observation i is equal to

$$L_i(.) = \sum_{m=1}^{M} p_m(.) \cdot \prod_{a=16}^{25} (\Pr(d_{ia} = 1 \mid type \ m))^{I(d_{ia}=1)} \cdot (\Pr(d_{ia} = 0 \mid type \ m))^{I(d_{ia}=0)}$$

where I(.) is the identity function. The likelihood of the sample data is formed by the product of each individual contribution.

To estimate the model, we defined the heterogeneity distribution over 10 support points ranging from -2.0 to 0.0 with intervals of 0.2 for the 1979 cohort and ranging from -2.5 to -0.5 with intervals of 0.2 for the 1997 cohort. These ranges ensure that probabilities can approach 0 or 1 if needed. As each type probability depends on 4 parameters, we thereby characterize the heterogeneity distribution with 46 parameters (36 for the type probabilities and 10 fixed support points). The distribution of unobserved heterogeneity and the evolution of educational selectivity will be summarized in Section 5. Other specifications will be discussed later in a sub-section devoted to robustness checks.

4 Changes in the Effects of Family Income and AFQT Scores

As for most non-linear models, the parameter estimates are not directly informative. For this reason, we focus our presentation of the results on two different statistics illustrating the mechanics of the model and present the parameter estimates in a set of tables (S8-S12) found in a supplementary file. As the model is sequential and allows for the effect of income and AFQT scores to change as individuals age, we first compute marginal effects on the probability of attaining an additional grade level at ages 18, 20 and 22.¹³

Our second set of marginal effects captures the impact of family income and AFQT scores on different measures of schooling attainment at a given

 $^{^{13}}$ As is normally expected from a reduced-form model incorporating flexible unobserved heterogeneity, it is found to fit the data quite well. The fit is summarized in a table found in a supplementary material file (Table S7).

age (highest grade completed and a college attendance indicator). They are obtained by compounding grade progression probabilities until age 26 and regressing those outcomes on measured family income. With these marginal effects, it is possible to relate our results to those reported in the literature in which observed schooling outcomes are regressed on income and a set of individual and family characteristics.

We present income effects on educational outcomes at different ages (18, 22, 25) so to allow the age-income effect differential to set in. Schooling attainment measured at age 25-26 is likely to provide a more reliable indicator of total life-cycle schooling than those at age 22 as a significant proportion of individuals experience grade transitions beyond age 22.

To obtain the marginal effects, we simulate educational choices between age 16 and 25 for a large number of individuals (10,000) reflecting the unobserved type distribution as well as random shocks. We then compute marginal effects on grade progression probabilities and highest grade completed and use the asymptotic distribution of parameter estimates to evaluate their standard errors.

4.1 The Effects of Income and AFQT Scores on Grade Progression

The marginal effects of income and AFQT scores on the probability of obtaining an additional grade are reported in Table 2. When estimating the model, family income is measured in units of \$10,000 (the base year is 2000) and AFQT scores are introduced as standardized residuals of a regression of AFQT scores on grade completed when ASVAB tests were administered. Note that our AFQT scores are already adjusted to account for differences across cohorts.

To obtain these effects, we set all observed regressors to their sample average. We evaluate marginal effects at four different levels corresponding to the average income within the first, second, third and fourth income quartiles of each cohort. At each of these points, we compute the effect of an increase of \$10,000. For the 1979 cohort, the four income levels are \$17,434, \$39,487, \$60,269 and \$99,184, respectively. For the 1997 cohort, they are equal to \$13,937, \$46,726, \$69,631 and \$141,855. Expressed in terms of the standard deviation of the income distribution, a \$10,000 increase is equivalent to about 33% of the standard deviation for the 1979 cohort and less (about 17%) for the 1997 cohort. To provide an overall picture, we also compute them at mean family income.

For the effects of AFQT scores, we proceed similarly and compute the marginal effect of AFQT's at each income quartile and at mean income. To facilitate comparability with income effects, we measure the impact of a change equal to 1/3 of the standard deviation of AFQT's. The marginal effects of income and AFQT scores on grade transition are averaged over types.

The results have been obtained for the model specification with correlated effects but also from a specification in which type probabilities depend only on initial grade level. Because the main results are practically identical and all the main conclusions persist when the distribution of types depends only on initial grade, we comment only on those obtained with correlated effects. Estimates obtained with alternative specifications are available in a supplementary appendix.

4.1.1 Income Effects

There are 4 main features about grade progression income effects to retain from Table 2. First, and aside from transitions taking place beyond age 21, family income effects on grade transitions have a concave shape as they tend to be generally higher at low income levels than at higher ones. This is true for both cohorts although concavity is much less pronounced in the 1997 cohort.

A second finding is that income effects on pre-college transitions (from age 16 to 18) are as strong as they are on transitions taking place from age 19 onwards. For instance, when evaluated at mean income, the 1979 cohort income effect on age 20 transitions (equal to 0.012) is practically identical to that measured at age 18 (which is equal to 0.010). For the more recent cohort, the average income effect at age 18 (averaging 0.007) actually exceeds the age 20 income effect (which is equal to 0.004) but these are so small that their difference may not raise substantial interest.

Keeping in mind that the vast majority of grade progression transitions takes place before age 22, the third and most important finding remains the overwhelming evidence that the effects of family income on grade progression have decreased between the early 1980's and the early 2000's. When comparing marginal effects measured at 18 and 20 at each specific income quartile obtained for the 1979 cohort with those obtained for the 1997 cohort, we observe that grade progression probabilities decrease by numbers ranging between 0.01 (at low income) to 0.005 (at high income). When measured at average income, these estimates translate into a 30% decrease in pre-college grade progression income effects and practically a 80% decrease for early college transitions. The effects of income at age 22 have also decreased by about 0.005 to approach 0.

As all these estimates measure the impact of income on a single grade transition probability, compounding those effects over early adulthood may be sufficient to generate even more significant differences in income effects when considering total schooling by age 22 or beyond. We shall return to this point below.

Finally, a fourth finding is that although we already noted the growing frequencies of belated grade progression between the 1980's and the early 2000's, those transitions appear to be disconnected from family income. While we also note a decrease in income effects between the early 1980's and the early 2000's, their low magnitude obviate the need for further comments on their evolution.

4.1.2 The Effects of AFQT Scores

With respect to grade progression effects of AFQT scores, there are 3 main points to be made. First, AFQT scores are the most important determinant of grade progression and, in particular, their marginal effects remain significant in the 1997 cohort. Notwithstanding that the effects of age and education have been removed from AFQT measures, a 1/3 standard deviation difference in the AFQT residual (evaluated at mean income) changes grade progression probabilities by 0.022 at age 18, by 0.050 at age 20, and by 0.035 at age 22, in the early 1980's. As a comparison, increments of \$22,000, \$41,000 and \$70,000 would have been needed to generate a similar change in grade progression. In the early 2000's, the AFQT marginal effect on early grade transitions, equal to 0.021, was equivalent to a \$30,000 increase while the effect on transitions between 19 and 21, equal to 0.016, was worth about \$40,000. The AFQT effect on belated progression (at age 22), equal to 0.008, cannot be evaluated in dollars as income does not matter for those transitions.

For the 1979 cohort, a second finding is that AFQT scores had stronger effects on early college transitions (at age 20) than on both high school and belated college transitions. However, in the early 2000's, the effects of AFQT's appear to decrease with age. For instance, AFQT's have practically no impact on age 22 transitions. In the older cohort, AFQT had still strong effects on belated college transitions.

Third and foremost, and across cohorts, the effects of AFQT scores on

grade transitions have decreased between the 1980's and the early 2000's. The only exception has been pre-college transitions (from 16 to 18) for which AFQT scores effects have remained constant. For the rest, they have been divided by more than 3. To illustrate this, and when evaluated at mean income level, a 1/3 standard deviation increase in AFQT raised early grade progression by 0.022 in the 1979 cohort and by 0.021 in the 1997 cohort. However, for transitions taking place at age 20, the same change in net AFQT raised grade progression by 0.050 in the 1979 cohort but by only 0.016 in the 1997 cohort. For belated college transitions, the AFQT effects dropped from 0.035 to 0.008. This indicates that differences in cognitive skills, to the extent that those are measured by AFQT scores, have become less important for college transitions but remained an important determinant of grade progression until age 18.

4.2 The Effects of Income and AFQT Scores on Educational Outcomes

After documenting the effects of income on grade progression probabilities, we now turn to marginal effects of income on educational outcomes as recorded by a given age. As noted earlier, much of the existing literature has focussed on outcomes measured around age 21-22 and ignored age-dependent income effects. To compute them, we proceed similarly and use simulated outcomes at ages 18, 20, 22 and 25. The results, found in Table 3, summarize income and AFQT effects on highest grade completed and also on a college attendance indicator equal to 1 if an individual has ever attended college. To avoid repetitive comparisons, we report the effects evaluated at mean income.

4.2.1 Income Effects

Aside from the relatively less important drop in income effects on grade attainment measured at age 18, income effects on schooling measured at ages 20, 22 and 25, have lost more than 50% of their magnitude over time.

When education outcomes are summarized by the college attendance indicator, the decrease is even more spectacular. In the 1979 cohort, a \$10,000 differential raised the population proportion attending college by 1.4% but by the early 2000's, it did so by only 0.3%.

As a result, a \$300,000 differential in family income generated more than 2 years of education in the early 1980's, but only one year in the early 2000's. Put differently, a \$70,000 family income differential raised college participation by 10 percentage points in the early 1980's. In the early 2000's, a \$330,000 income differential had the same impact on college participation.

As already noted when we analyzed grade progression probabilities, this general finding goes against conventional wisdom as economists are often tempted to assimilate the documented increase in educational differences between high and low income quartiles (which often ignores belated college completion) to an increase in the effect of real income. Our findings suggest that it is far from being the case.

4.2.2 AFQT Scores

As noted earlier, a distinction must be made between pre-college transitions and transitions taking place beyond age 18. In line with the evolution of grade progression probability income effects, the effects of AFQT scores on grade attainments measured at ages 20, 22 and 25 have all decreased substantially between the 1980's and the early 2000's. This is the case for all income quartiles and also for mean income. More precisely, an increase of 1/3 standard deviation in AFQT residuals in the 1980's increased grade attainment by 0.162 year at age 20, by 0.254 at age 22 and by 0.324 by age 25. In the early 2000's, the corresponding marginal effects had dropped to 0.084 (at age 20), 0.116 (at age 22) and 0.143 (at age 25). All in all, the effects of AFQT on schooling attainments measured at any point between age 19 and 25 have been reduced by 50% between the early 1980's and the early 2000's.

As for family income, the drop in AFQT score effects is more spectacular when stated in terms of college attendance. In the early 1980's, a one third standard deviation increase raised college attendance by 6.4 percentage points. In the early 2000's, it did so by only 1.5 percentage points.

4.3 Summary

We now summarize the main results. As indicated by their standard errors, the effects of income and AFQT are as precisely estimated in both cohorts. While income effects are usually positive and significant in the 1979 cohort, they are often not significantly different from 0 in the 1997 cohort. Even if their differences across cohorts are not always statistically significant, there is virtually no age level and no income level at which income effects have increased over time.

For AFQT's, the results are similar with the exception that their marginal effects remain significant in the 1997 cohort. Indeed, in most cases, the difference between 1997 and 1979 effects is significantly different from 0, and the evidence in favor of a decrease in importance of AFQT's is overwhelming.

4.4 Robustness

To verify the robustness of our results, we implemented two different versions of the model. First, and in order to check to what extent our main results are driven by the correlation between unobserved abilities and the projection of non-cognitive skill measures onto family characteristics, we estimate a version that does not use non-cognitive measures and thereby assumes that the distribution of types depends on initial grade only.

Second, and in order to evaluate the potential sensitivity of our results to the presence of very high and very low income, we also re-estimated the models after removing the top 1% and the bottom 1% income levels. This may be justified by the potentially higher likelihood of mis-measurement of income at extreme levels.

In a supplementary appendix (Table S4 and Table S5), we report results that document clearly that our main results are robust to an alternative specification of the distribution of unobserved heterogeneity and that they are not explained by the behavior of individuals endowed with either very low or very high family income levels.

4.5 Comparison with a Relative Income Approach

The existing literature has focussed mostly on documenting the evolution of education inequality in conjunction with income inequality and, for this reason, has studied the evolution of average education outcomes at different income quantiles.

Although individual decisions are most likely not guided by relative income position but by real income, we estimated a version of our model specification with non-cognitive measures after replacing real income by a set of quartile indicators in order to obtain estimates of the evolution of educational differences which would be more comparable with those reported in the literature.

When estimating the model, we use the lowest quartile as the reference group and report marginal effects as the difference in schooling attainments between a given quartile and the first one. These educational differentials are partly affected by the evolution of real income effects and by changes in family income distribution. The estimates are presented in Table 4. We comment on grade attainment and on the proportion of college attendance at age 25.

Although reported educational differences may not be interpreted as emerging solely from changes in real income effects, the results are in line with the decreasing trend documented earlier. They show that there was a reasonably steep relative income gradient in the 1979 cohort for college attendance but that it has almost disappeared for the 1997 cohort. Similarly, the attendance probability differential across quartiles in the 1979 cohort turned out to be substantially larger than for the 1997 cohort.

Either in terms of grade attainment or college completion, educational differences between those in quartiles 2, 3 and 4 on one hand and those in quartile 1 on the other hand, have decreased. This is particularly noticeable when considering the differentials between the second and first quartiles which have practically disappeared.

To some extent, these results further illustrate the robustness of our general finding of weaker income effects on college attendance and grade completion for the 1997 cohort. They indicate that the decrease in the effect of real income on higher education has been sufficiently strong to counteract the effect of the increase in income dispersion and thereby prevent an increasing education gap between high and low family income families, after conditioning on both observed and unobserved characteristics.

5 Changes in Educational Selection and Unobserved Heterogeneity

In order to comprehend the sources of changes in marginal effects of family income and AFQT scores, it is necessary to evaluate the relative importance of unobserved heterogeneity within each cohort and to quantify its evolution. This is a crucial step toward understanding the role played by dynamic selection.

5.1 The Importance of Unobserved Heterogeneity

The distribution of unobserved heterogeneity is summarized in Table 5. In both cohorts, we find evidence of 4 distinct types. In the 1979 cohort, more than half of the population is endowed with an intercept of -2.0 while about a quarter has -0.4. Dispersion is also high in the 1997 cohort as we find an intercept of -2.5 for 10%, -1.1 for 26%, and a total of 65% at -0.7 or -0.5.

There are 3 specific questions that we need to answer. Which observed characteristics are more highly correlated with unobserved heterogeneity? Has the dependence of the distribution of unobserved heterogeneity on observed characteristics changed ? What happened to the distribution of unobserved heterogeneity across cohort and to what extent has the relative importance of unobserved heterogeneity changed between the early 1980's and the early 2000's?

To answer these questions, we simulate the distribution of unobserved heterogeneity using the parameters measuring the impact of initial grade and non-cognitive measures on type probabilities. We then regress realized unobserved heterogeneity on each individual characteristic one-by-one and then on all characteristics. In Table 6, we report the R-squared of each regression in column 1 (1979 cohort) and in column 2 (1997 cohort). We also ran separate regressions of simulated schooling (as measured by age 25) on individual characteristics as well as on unobserved heterogeneity. This allows us to obtain a ranking of the relative importance of each determinant, and in particular, to see which characteristics have become more or less important over time. Those results are in column 3 (1979 cohort) and column 4 (1997 cohort).

There are three elements to retain from the first two columns of Table 6 on the decomposition of the distribution of unobserved heterogeneity. First, the R-squared of the regressions incorporating income and AFQT scores are both equal to 0.075 in the 1979 cohort. While these indicate relatively low correlations, AFQT's and income are the characteristics with the highest level of correlation with unobserved types. The intact family indicator is also correlated with unobserved heterogeneity.

Second, in the 1997 cohort, AFQT is the variable with the highest R-squared, 0.058, but the movement in family income R-squared (from 0.075 to 0.027) indicates that income has become less correlated with the unobserved factor.

Third, and when taken globally, our estimates indicate that the overall correlation between unobserved heterogeneity and family characteristics has decreased.

Turning to the decomposition of educational outcomes, we note that among observed individual and family characteristics, only the "Intact Family" indicator, has become notably more important over the period considered. It is however impossible to say if this relationship is causal or just explained by a change in composition of the sub-population experiencing family separations. It is also interesting to note that Blacks also tend to be more educated, after conditioning on all characteristics. This finding is not incoherent with the generally lower proportion of Blacks attending college found in many US data sets. However, mother's education remains the best predictor.

In line with our main results, a second notable finding is the drop in both AFQT R-squared, which went from 0.343 in the 1979 cohort to 0.262 in the 1997 cohort, and family income, which dropped from 0.162 to 0.076. Despite that, AFQT score remains the most important predictor of educational attainments in the early 2000's before mother's education.

The third and most striking finding, is the increase in the relative importance of unobserved heterogeneity. In the early 1980's, unobserved heterogeneity accounted for about 50% of schooling attainment. By the early 2000's, unobserved heterogeneity has become by far the most important determinant of education and accounts for almost 75% of the explained variations in schooling. It has therefore become more important than the entire set of individual and family characteristics.

Finally, OLS estimates reported in Table S6 (in a supplementary file) indicate that both the Rotter scale and the Rosenberg scale are weakly correlated with observed regressors as indicated by the R-squared of the regressions used to generate their predicted values, and equal to 0.06 and 0.08 respectively. AFQT score is the characteristic that has the highest correlation with both measures. The effect of income on the Rotter index is very weak and its effect on the Rosenberg self-esteem measure is insignificant.

5.2 Impact of Ignoring Unobserved Heterogeneity

Evaluating the implication of ignoring unobserved taste for schooling is also a crucial issue to comprehend our main results. The consequences of ignoring dynamic selection on estimates of the effect of income on educational outcomes are however difficult to anticipate as our model allows for agedifferentiated effects of unobserved heterogeneity and observed characteristics on schooling. If there are going to be consequences of ignoring dynamic selection on income effects, we expect them to be more important on the recent cohort since we found unobserved heterogeneity to be relatively more important for it.¹⁴

¹⁴In some specific econometric settings, such as Proportional Hazards models in which unobserved heterogeneity hits the hazard rate multiplicatively, the impact of ignoring

To evaluate the impact of ignoring dynamic selection, we compare marginal effects of income and AFQT scores obtained with and without unobserved heterogeneity. To simplify our analysis, we compare marginal income effects obtained at the average income level. Those are found in Table 7. To ease comparison, we also reproduce the estimates of Table 2 (our most general model) in the bottom panel of Table 7.

The impact of ignoring unobserved heterogeneity comes out relatively clearly. First, and as normally expected, income effects on early grade progression are much less affected than later ones as the effect of dynamic selection sets in more clearly as age progresses. In the 1979 cohort, the average income effect on grade progression probabilities are multiplied by 2, going from 0.012 to 0.023 at age 20, and from 0.005 to 0.009 at age 22. In the 1997 cohort, income effects are even more inflated. For instance, income effects at age 20, equal to 0.004 with unobserved heterogeneity, are multiplied by 4 to reach 0.016. At age 22, the average income effect ignoring heterogeneity is positive (0.006) while that obtained when incorporating is equal to 0 at 4 decimals.

When translated into grade attainment income effects, ignoring heterogeneity inflates income effects in both cohorts but in different proportions. It multiplies them by 2 in the 1979 cohort and by 3 to 4 in the 1997 cohort. At age 25, ignoring heterogeneity moves income effects on grade attainment from 0.073 year to 0.147 year and raised college participation income effects from 1.4 to 3.8 percentage points in the 1979 cohort. In the 1997 cohort, it moves grade attainment income effects from 0.027 year to 0.115 year and inflates college participation income effects from 0.3 to 2.3 percentage points.

Thus, not accounting for dynamic selection inflates income effects on both grade progression probabilities and schooling attainments within each cohort. Because unobserved heterogeneity is found to be relatively more important in the early 2000's, the income effect inflation is even more serious for the 1997 cohort. While ignoring unobserved heterogeneity would still reveal decreasing income effects, it would do so from inaccurate estimates. Moreover, ignoring dynamic selection would hide the fact that income effects have practically vanished. Our results are in line with Ashworth et al. (2020) who report the need to account for dynamic selection (changes in composition) when analyzing changes in returns to education for the 1979

dynamic selection may be derived analytically. See Lancaster, 1990, for a formal analysis in a continuous duration setting, and Cameron and Heckman (1998) for a discussion within a discrete duration setting.

and 1997 cohorts of the NLSY.

Finally, and upon comparing AFQT effects with and without heterogeneity, the conclusion is similar. In both cohorts, ignoring unobserved heterogeneity drives AFQT marginal effects at much higher levels than those obtained when unobserved heterogeneity is accounted for.

6 Interpretation and Conclusion

Our main findings are in accord with the evolution of college attendance in the US. The number of individuals graduating with a Bachelor's degree has fluctuated between 1.5 and 3 millions per year in the past 20 years and is larger than what was observed in the early 1980's. When coupled with the increased capacity at lower quality and lower tuition institutions, this may explain the decreasing impact of real family income and AFQT score on educational attainment and the emergence of a new form of educational selectivity reserving an increasing role to non-cognitive abilities and/or preferences.

The effect of family income on education inequality is however far from being a closed research topic. Our results raise questions that could open avenues for future research. One would be to evaluate if those coming from lower income families have been forced to supply labor while in school in order to finance their education. If so, it would also be interesting to know if those using more labor supply intensive trajectories have been penalized for doing so. Addressing this issue would require to model simultaneous school attendance and labor supply margins.

Our paper has focussed on the US, which is known to provide high incentives to education but relatively low investment levels for disadvantaged children. It would be interesting to see how income effects have evolved in countries where a higher share of public expenditures goes to skill investment among the disadvantaged and where university tuitions are lower.¹⁵

Finally, it would be highly relevant to investigate the factors lying behind the increase in relative importance of unobserved heterogeneity. These are fundamental issues that we are currently examining in ongoing research.

¹⁵Landerso and Heckman (2017) study differences in intergenerational mobility between Denmak and the US and conclude that despite differences in public policies, they disclose a similar correlation between family resources and educational attainment.

7 References

[1] Abel, Jaison. R. and Richard Deitz (2014), Do the Benefits of College Still Outweigh the Costs?, Current Issues in Economics and Finance, New York

[2] Abbot, Brant, Giovanni Gallipoli, Costas Meghir, and Giovanni L. Violante (2016) Education Policy and Intergenerational Transfers in Equilibrium, NBER Working Paper No. w18782,

[3] Altonji, Joseph G., Prashant Bharadwaj, and Fabian Lange (2012), Changes in the Characteristics of American Youth: Implications for Adult Outcomes, *Journal of Labor Economics*, 30, 783-828.

[4] Ashworth, Jared, V. Joseph Hotz, Arnaud Maurel, and Tyler Ransom (2020), Changes across Cohorts in Wage Returns to Schooling and Early Work Experiences, Working paper, Duke University.

[5] Bajari, Patrick, Fox, Jeremy and Steve Ryan (2007) "Linear Regression Estimation of Discrete Choice Models with Nonparametric Distributions of Random Coefficients" American Economic Review. April 2007, Vol. 97, No. 2: Pages 459-463

[6] Bailey, Martha J. and Susan M. Dynarski (2011), Inequality in postsecondary education, in Whither Opportunity?: Rising Inequality, Schools, and Children's Life Chances, Greg J. Duncan and Richard J. Murnane, eds. (New York: Russell Sage), 117-132.

[7] Beaudry, Paul, David A. Green, and Benjamin M. Sand (2013), The Great Reversal in the Demand for Skill and Cognitive Tasks, NBER Working Paper No. w18901.

[8] Belley, Philippe and Lance Lochner (2007), The Changing Role of Family Income and Ability in Determining Educational Achievement, *Journal of Human Capital*, 1, 37-89.

[9] Belley, Philippe, Marc Frenette, and Lance Lochner (2014), Postsecondary Attendance by Parental Income in the U.S. and Canada: Do Financial Aid Policies Explain the Differences?, *Canadian Journal of Economics*, 47, 664-696.

[11] Bound, John, Michael Lovenheim, and Sara Turner (2010): "Why have college completion rates declined? An analysis of changing student preparation and collegiate resources," *American Economic Journal: Applied Economics*, 2(3), 129–57.

[12] Cameron Stephen V. and James J. Heckman (1998), Life Cycle Schooling and Dynamic Selection Bias: Models and Evidence for Five Cohorts of American Males, *Journal of Political Economy*, 106, 262-333.

[13] Cameron Stephen V. and James J. Heckman (2001), The Dynamics of Educational Attainment for Black, Hispanic, and White Males, *Journal of Political Economy*, 109, 455-499.

[14] Cameron Stephen V. and Christopher Taber (2004), Estimation of Educational Borrowing Constraints using Returns to Schooling, *Journal of Political Economy*, 112, 132-182.

[15] Carneiro Pedro and James .J. Heckman (2002) The Evidence on Credit Constraints in Post-Secondary Schooling, *Economic Journal*, 112, 705-734.

[16] Castex, Gonzalo and Evgenia K. Dechter (2014), The Changing Role of Education and Ability in Wage Determination, *Journal of Labor Economics*, 32, 685-710.

[17] Chetty, Raj, Nathaniel Hendren, Patrick Kline, Emmanuel Saez, and Nicholas Turner (2014), Is the United States Still a Land of Opportunity? Recent Trends in Intergenerational Mobility, *American Economic Review* 104, 141-147.

[18] Deming, David J. (2017) The Growing Importance of Social Skills in the Labor Market. *Quarterly Journal of Economics*, 132(4): 1593–1640.

[19] Dynarski, Susan M. and Judith Scott-Clayton (2013), Financial Aid Policy: Lessons from Research, Future of Children, 23, 67-91.

[20] Hai, Rong and James J. Heckman (2017), Inequality in Human Capital and Endogenous Credit Constraints, *Review of Economic Dynamics*, 25, 4-36.

[21] Hoxby, Caroline (2009), The Changing Selectivity of American Colleges, *Journal of Economic Perspective*, 23, 95-118.

[22] Keane, Michael P. and Kenneth I. Wolpin (1997), The Career Decisions of Young Men, *Journal of Political Economy*, 105, 473-522.

[23] Kinsler, Josh and Ronni Pavan (2011), Family Income and Higher Education Choices: The Importance of Accounting for College Quality, *Journal of Human Capital*, 5, 453-477.

[24] Lancaster, Tony (1990), The Econometric Analysis of Transition Data, Cambridge University Press

[25] Landerso, Rasmus and James J. Heckman (2017) The Scandinavian Fantasy: The Sources of Intergenerational Mobility in Denmark and the US, *Scandinavian Journal. of Economics* 119(1), 178–230, DOI: 10.1111/sjoe.12219

[26] Lochner, Lance J. and A. Monge-Naranjo (2011), The nature of credit constraints and human capital, *American Economic Review* 101(6), 2487-2529.

[27] Lovenheim, Michael and C. Lockwood Reynolds (2007), Changes in Postsecondary Choices by Ability and Income: Evidence from the National Longitudinal Surveys of Youth, *Journal of Human Capital*, 5, 70-109.

[28] Lovenheim, Michael F. and C. Lockwood Reynolds (2011), The Effect of Housing Wealth on College Choice: Evidence from the Housing Boom, *Journal of Human Resources* 48, 1-35.

[29] Nielsen, Eric R. (2015), The Income-Achievement Gap and Adult Outcome Inequality, Finance and Economics Discussion Series 2015-041. Washington: Board of Governors of the Federal Reserve System.

[30] Train, Kenneth (2008) EM Algorithms for nonparametric estimation of mixing distributions, *Journal of Choice Modelling* Vol. 1, Issue 1, Pages 40-69.

1979 cohort 1997 cohort **Educational Attainment** Highest grade completed 13.1 13.6 Proportion attended college 0.455 0.579 Proportion graduated from college 0.218 0.306 Parental Income Average \$54,155 \$65,572 Std dev \$33,308 \$58,136 Average among college attendants \$65,319 \$77,974 Highest grade completed by income quartile Quartile 1 12.0 12.4 Quartile 2 12.8 13.1 Quartile 3 13.3 14.1 Quartile 4 14.2 14.7 AFQT 169 170.8 Average Std dev 30.2 30 Average among college attendants 185.8 182.2 **Other characteristics** Male 0.494 0.499 Mother's education 11.7 13.2 0.788 Intact Family 0.581 Rural 0.238 0.264 2.3 Number of Siblings 3.1 Black 0.115 0.135 **Hispanics** 0.078 0.107 Mother's age at birth 26.3 25.8 2,651 Sample size 2,151

Table 1: Summary Statistics in 1979 and 1997

Note:

1979 income: \$28,886 (25%); \$50,163 (50%); \$71,210 (75%) 1997 income: \$29,623 (25%); \$53,010 (50%); \$82,285 (75%) Attended college = 1 if completed grade 13 or more Graduated college = 1 if completed grade 16 or more

		Income			AFQT	
	1979	1997	1997-1979	1979	1997	1997-1979
Age 18						
at Income Q1	0.022	0.009	-0.013	0.026	0.021	-0.005
	(0.003)	(0.004)	(0.004)	(0.003)	(0.004)	(0.004)
at Income Q2	0.014	0.008	-0.006	0.023	0.021	-0.002
	(0.002)	(0.004)	(0.004)	(0.002)	(0.004)	(0.004)
at Income Q3	0.008	0.007	-0.002	0.021	0.021	0.000
	(0.002)	(0.004)	(0.004)	(0.002)	(0.003)	(0.004)
at Income Q4	0.000	0.004	0.004	0.019	0.020	0.000
	(0.002)	(0.003)	(0.004)	(0.002)	(0.003)	(0.004)
at Income mean	0.010	0.007	-0.003	0.022	0.021	-0.001
	(0.002)	(0.004)	(0.004)	(0.002)	(0.003)	(0.004)
Age 20						
at Income Q1	0.015	0.006	-0.009	0.050	0.019	-0.030
	(0.005)	(0.005)	(0.007)	(0.005)	(0.005)	(0.007)
at Income Q2	0.013	0.005	-0.008	0.049	0.017	-0.033
	(0.005)	(0.005)	(0.007)	(0.005)	(0.005)	(0.007)
at Income Q3	0.011	0.004	-0.007	0.049	0.016	-0.033
	(0.005)	(0.005)	(0.007)	(0.005)	(0.006)	(0.007)
at Income Q4	0.008	0.002	-0.007	0.047	0.014	-0.034
	(0.005)	(0.006)	(0.007)	(0.005)	(0.006)	(0.007)
at Income mean	0.012	0.004	-0.008	0.050	0.016	-0.034
	(0.005)	(0.005)	(0.007)	(0.005)	(0.006)	(0.007)
Age 22						
at Income Q1	0.006	0.001	-0.005	0.035	0.010	-0.025
	(0.003)	(0.004)	(0.005)	(0.003)	(0.004)	(0.005)
at Income Q2	0.005	0.001	-0.004	0.035	0.008	-0.026
	(0.003)	(0.004)	(0.005)	(0.003)	(0.004)	(0.005)
at Income Q3	0.004	0.000	-0.004	0.034	0.008	-0.026
	(0.003)	(0.004)	(0.005)	(0.003)	(0.004)	(0.005)
at Income Q4	0.004	-0.001	-0.005	0.034	0.007	-0.026
	(0.003)	(0.004)	(0.005)	(0.003)	(0.004)	(0.005)
at Income mean	0.005	0.000	-0.005	0.035	0.008	-0.026
	(0.003)	(0.004)	(0.005)	(0.003)	(0.004)	(0.005)

Table 2: Marginal Effects of Family Income and AFQT scores on Grade Transition Probabilities

Note: Standard errors in parentheses.

		Income			AFQT	
	1979	1997	1997-1979	1979	1997	1997-1979
Highest Grade Completed						
Age 18	0.021	0.017	-0.004	0.042	0.053	0.011
	(0.004)	(0.010)	(0.011)	(0.004)	(0.010)	(0.011)
Age 20	0.049	0.022	-0.027	0.162	0.084	-0.077
	(0.014)	(0.021)	(0.025)	(0.014)	(0.021)	(0.025)
Age 22	0.065	0.027	-0.038	0.254	0.116	-0.138
	(0.022)	(0.030)	(0.037)	(0.022)	(0.030)	(0.037)
Age 25	0.073	0.027	-0.046	0.324	0.143	-0.181
	(0.025)	(0.040)	(0.047)	(0.026)	(0.040)	(0.047)
College Attendance						
Age 25	0.014	0.003	-0.011	0.064	0.015	-0.049
	(0.007)	(0.007)	(0.010)	(0.007)	(0.007)	(0.010)

	Income			AFQT		
	1979	1997	1997-1979	1979	1997	1997-1979
		Incon	ne Quartile 2 v	vs Income O	uartile 1	
Grade Transition Probability						
Age 18	0.026*	0.000	-0.026*	0.020*	0.020*	-0.0001
Age 20	0.032*	-0.001	-0.032*	0.051*	0.019*	-0.031*
Age 22	0.016*	-0.004	-0.020*	0.039*	0.007	-0.032*
Highest Grade Completed						
Age 18	0.036*	-0.001	-0.037*	0.018*	0.056*	0.038*
Age 20	0.131*	-0.003	-0.133*	0.171*	0.095*	-0.076*
Age 22	0.193*	-0.012	-0.205*	0.305*	0.130*	-0.175*
Age 25	0.223*	-0.035	-0.258*	0.399*	0.163*	-0.236*
College Attendance						
Age 25	0.058*	-0.002	-0.060*	0.093*	0.016*	-0.077*
		Incon	ne Quartile 3 v	vs Income O	uartile 1	
Grade Transition Probability						
Age 18	0.046*	0.050*	0.004	0.019*	0.019*	0.001
Age 20	0.046*	0.022*	-0.024*	0.049*	0.019*	-0.030*
Age 22	-0.002	0.002	0.004	0.037*	0.006	-0.030*
Highest Grade Completed						
Age 18	0.054*	0.141*	0.086*	0.013*	0.055*	0.043*
Age 20	0.192*	0.185*	-0.006	0.159*	0.092*	-0.067*
Age 22	0.260*	0.214*	-0.046	0.289*	0.126*	-0.163*
Age 25	0.254*	0.220*	-0.034	0.365*	0.157*	-0.208*
College Attendance						
Age 25	0.070*	0.018*	-0.053*	0.093*	0.013*	-0.080*
		Incon	ne Quartile 4 v	vs Income Q	uartile 1	
Grade Transition Probability						
Age 18	0.063*	0.041*	-0.022*	0.017*	0.020*	0.003
Age 20	0.111*	0.040*	-0.072*	0.047*	0.019*	-0.029*
Age 22	0.038*	-0.004	-0.042*	0.038*	0.006	-0.033*
Highest Grade Completed						
Age 18	0.065*	0.114*	0.049*	0.010*	0.056*	0.046*
Age 20	0.401*	0.192*	-0.209*	0.147*	0.091*	-0.056*
Age 22	0.636*	0.230*	-0.407*	0.287*	0.117*	-0.170*
Age 25	0.713*	0.201*	-0.512*	0.377*	0.142*	-0.235*
College Attendance						
Age 25	0.190*	0.027*	-0.163*	0.077*	0.013*	-0.064*

Table 4: Marginal Effects of Family Income and AFQT scores on Educational Attainment - Relative Income

Note: * signifies statistical significance at the 5 percent level.

 Table 5: Type Proportions and Location Parameters

_	197	9	199	97
Туре	Location	Proportion	Location	Proportion
1	-2.0	0.515	-2.5	0.097
2	-1.8	0.000	-2.3	0.000
3	-1.6	0.000	-2.1	0.000
4	-1.4	0.001	-1.9	0.000
5	-1.2	0.054	-1.7	0.000
6	-0.8	0.186	-1.3	0.000
7	-0.6	0.000	-1.1	0.257
8	-0.4	0.242	-0.9	0.000
9	-0.2	0.000	-0.7	0.601
10	0.0	0.001	-0.5	0.045

 Table 6: R-squares from Regressions of Type-specific Location Parameter and Highest Grade Completed

	Location		Highest Grad	le Completed
	1979	1997	1979	1997
Mother's education	0.016	0.028	0.185	0.125
Intact Family	0.041	0.033	0.027	0.088
Rural	0.003	0.000	0.002	0.000
Number of siblings	0.005	0.004	0.060	0.011
Black	0.052	0.003	0.014	0.006
Hispanic	0.005	0.001	0.022	0.010
Mother's age at birth	0.006	0.009	0.017	0.050
Male	0.012	0.000	0.000	0.008
AFQT	0.075	0.058	0.343	0.262
Family income	0.075	0.027	0.162	0.076
Unobserved Heterogeneity			0.339	0.487
All of the above	0.150	0.089	0.643	0.659

R-squares from regressions where variables are individually considered.

Dependent variables in column heading. All regressions include initial grade.

	Income			AFQT			
	1979	1997	1997-1979	1979	1997	1997-1979	
			Single Typ	e Model			
Grade Transition Probability							
Age 18	0.012*	0.008*	-0.004	0.024*	0.023*	-0.001	
Age 20	0.023*	0.016*	-0.007	0.075*	0.058*	-0.017*	
Age 22	0.009*	0.007	-0.002	0.047*	0.040*	-0.007	
Highest Grade Completed							
Age 18	0.014*	0.015*	0.001	0.025*	0.044*	0.019*	
Age 20	0.080*	0.057*	-0.022	0.244*	0.196*	-0.047*	
Age 22	0.1281*	0.095*	-0.033	0.433*	0.360*	-0.074*	
Age 25	0.147*	0.115*	-0.032	0.542*	0.506*	-0.036	
College Attendance							
Age 25	0.038*	0.023*	-0.015	0.127*	0.081*	-0.046*	
			10-type	Model			
Grade Transition Probability							
Age 18	0.010*	0.007	-0.003	0.022*	0.021*	-0.001	
Age 20	0.012*	0.004	-0.008	0.050*	0.016*	-0.034*	
Age 22	0.005*	0.000	-0.004	0.035*	0.008	-0.026*	
Highest Grade Completed							
Age 18	0.021*	0.017	-0.004	0.042*	0.053*	0.011	
Age 20	0.049*	0.022	-0.027	0.162*	0.084*	-0.077*	
Age 22	0.065*	0.027	-0.038	0.254*	0.116*	-0.138*	
Age 25	0.073*	0.027	-0.046	0.324*	0.143*	-0.181*	
College Attendance							
Age 25	0.014*	0.003	-0.011	0.064*	0.015*	-0.049*	

Table 7: Marginal Effects of Family Income and AFQT scores on Educational Attainment - Comparison of Models

Note: * signifies statistical significance at the 5 percent level.



Figure 1. Proportion of sample with a grade increment, by age and NLSY cohort.

Supplement to The Evolution of the US Family Income-Schooling Relationship and Educational Selectivity *

Christian Belzil CREST, CNRS, Paris Polytechnic Institute and IZA and CIRANO

> Jörgen Hansen Concordia University, CIREQ, CIRANO and IZA

> > May 19, 2020

^{*}Financial support from Investissement d'Avenir (ANR-11-IDEX-0003/ Labex Ecodec/ANR-11-LABX-0047) and Social Sciences and Humanities Research Council of Canada (grant 435-2017-0129) is gratefully acknowledged. We thank Philippe Belley, Evgenia Dechter, Lance Lochner, Michael Lovenheim, Arnaud Maurel, Douglas Webber, and participants at the IAAE 2018 Conference (Montreal) and the ESEM 2019 (Manchester) for comments and exchanges. We also thank Ed Vytlacil and four anonymous referees for their insightful comments. The usual disclaimer applies.

1 Background Material

The relationship between education inequality and access to financial resources is one of the most contentious issues debated over the past 20 years in the US. Since many key determinants of education choices, such as parental transfers, borrowing limits, and financial aid, are not precisely measured in observational data, it is particularly difficult to obtain clean evidence on the existence of financial barriers to educational achievements, let alone their evolution across cohorts.

For this reason, many economists have estimated reduced-form models of educational choices and used them to evaluate the impact of family income on higher education enrollments. This approach is motivated by the existence of a strong empirical correlation between family income and family resources devoted to education financing.

In a seminal piece, Cameron and Heckman (1998) estimated an ordered discrete choice model of schooling choices on five different cohorts of US males born between 1907 and 1964 using data from the Occupation Change in a Generation (OCG) and the NLSY79 cohort and report relatively small effects of a 10 percent increase in family income on enrollment and graduation probabilities. They stressed the relative unimportance of family income compared to family human capital indicators and cognitive ability, as measured by Armed Forces Qualification Test (AFQT) scores.¹ Other studies such as Keane and Wolpin (1997), Carneiro and Heckman (2002) and Cameron and Taber (2004) have confirmed this finding within diverse frameworks. All of these studies were concerned with cohorts of individuals who made their college participation decision in the early 1980's.

However, the well documented increase in wage inequality taking place between the late 1970's and the early 2000's, coupled with the steady increase in publicly posted tuition costs of four year college (the sticker price), has stimulated interest in the evolution of the effect of family income on educational attainment. There are good reasons for that. In presence of either exogenous borrowing constraints or endogenous constraints driven by

¹As the authors do not report standard errors for the impact of an increase in family income (Table 11, page 314), it is difficult to assess the evolution of the effect of family income over this long period which precedes the period over which income inequality has progressed substantially

various forms of limited commitments, most theoretical models predict that parental transfers (approximated by parental income) can play a role in the decision to invest in higher education.²

Based on a comparison of the 1979 cohort of the NLSY with the 1997 cohort, Belley and Lochner (2007) conclude that family income has become a more important determinant of college enrollments in the early 2000's than in the 1980's. To establish their results, the authors essentially regress binary educational outcome indicators, measured at age 21, on relative income measures (quartile indicators), AFQT scores and other regressors measuring individual and family background heterogeneity. They report that differences in mean outcomes between the top and the bottom family income quartiles are higher for the 1997 cohort than the 1979 cohort. Claims about the increasing gap in educational outcomes between low and high income classes are also found in Avery and Kane (2004), Bailey and Dynarski (2011) and Page and Scott-Clayton (2015).³

Some recent studies have however offered different perspectives on the evolution of educational inequality. Kinsler and Pavan (2011), who investigated gaps in college quality between different income quartiles, report that the effects of family income on college quality have been stable for average ability students and have even decreased for the more able. Chetty et. al. (2014), who were primarily interested in the evolution of the intergenerational income correlation, document that education gaps between low and high income US families have been relatively stable and dropped for the most recent cohorts (those born after 1985).⁴

In line with our approach based on measuring the impact of real income (as opposed to relative income), Lovenheim and Reynolds (2011) estimate a multinomial Logit model of two-year and four-year enrollments on two

 $^{^{2}}$ The literature on human capital and liquidity constraints is surveyed in Lochner and Monge-Naranjo (2010).

 $^{^{3}}$ The increasing effect of parental income on educational outcomes is invoked as one of the main motivations for incorporating credit (liquidity) constraints within structural models of human capital accumulation. This is the case in Lochner and Monge-Naranjo (2010), Johnson (2013), Abbott et al (2016) and Hai and Heckman (2017).

⁴In parallel to the literature on education inequality, several studies concerned with wage inequality have attempted to measure recent changes in the effect of abilities on wages. For instance, Castex and Dechter (2014) have documented a decrease in the effect of AFQT scores on wages using both the 1979 and 1997 cohorts of the NLSY. Beaudry et al (2013) document a decline in the demand for high-skilled workers since 2000 and show that highskilled workers have moved down the occupational ladder and have begun to perform jobs traditionally performed by lower-skilled workers.

samples of high school graduates taken from the 1979 and 1997 cohorts of the NLSY.⁵ To measure the effect of real income, they use four income groups defined from the 1997 quartiles which they interact with AFQT terciles. Although the authors conclude against the existence of a steeper income gradient within the 1997 cohort (except perhaps for high ability males), they also recognize that ignoring unobserved heterogeneity may have a substantial impact on their results.

There are two important observations to be made about the existing literature. First, and in line with the vast literature documenting the increase in wage inequality, those who have investigated the evolution of educational inequality have therefore focused mostly on documenting education gaps between various family income quantiles (aside from Lovenheim and Reynolds, 2011). This is surprising as in absence of any actual measure of family resources devoted to higher education, differences in real income are much more likely to approximate access to financial resources than relative income measures.⁶

A second feature is the absence of any discussion of the effect of educational (dynamic) selection. The sensitivity of the evolution of the marginal effects of family income and AFQT scores to potential changes in educational selectivity therefore remains undocumented.

In intuitive terms, the implications of dynamic selection may be illustrated as follows. Consider two types of individuals; one poorly endowed with a characteristic favoring education (for instance, an individual coming from a low-income family) and another type endowed with a high level of the same characteristic (coming from a high income family), and assume the existence of one unobserved factor favoring education and distributed independently from income at the beginning of the accumulation process.

As we move toward realized higher education levels (as we consider more and more selected sub-populations), an individual coming from a low-income family is more likely to be endowed with a high level of the unobserved factor favoring education than another individual coming from a higher income family. This automatically creates a negative correlation between unobserved heterogeneity and family income, which becomes more important as we condition on increasingly high education levels. For instance, this may be

⁵Lovenheim and Reynolds (2011) use a restricted access version of the NLSY.

⁶Studies using both the 1979 and 1997 cohorts of the NLSY do not necessarily use the same regressors. For instance, Lovenheim and Reynolds (2011) control for both father's and mother's education and split males and females while Belley and Lochner (2007) ignore father's education and group males and females together.

particularly serious when evaluating the effect of income on the probability of continuing to college or on the probability of completing college if the sub-population of high school graduates is not representative of the original population.

Indeed, a large body of papers using structural dynamic methods have pointed out that unobserved heterogeneity in preferences for schooling was more important than any other observed characteristic in the NLSY79 (Keane and Wolpin, 1997). On top of this, if the relative importance of unobserved heterogeneity changes across cohorts, any comparison between marginal effects of income obtained from OLS across different cohorts becomes completely uninformative (even if income is an exogenous regressor).⁷

To summarize, it is impossible to estimate the effects of income, AFQT and other characteristics (along with their evolution) without accounting for the role of unobserved heterogeneity. Evaluating the importance of dynamic selection therefore requires to model grade progression as a sequential process in which unobserved heterogeneity plays an explicit role. This is precisely what we achieve in this paper.

2 Data Selection Criteria

Our analysis is based on data from two cohorts of the National Longitudinal Survey of Youth, NLSY79 and NLSY97. The NLSY79 is a nationally representative sample of 12,686 young men and women who were 14-22 years old when they were first surveyed in 1979 while the NLSY97 consists of a nationally representative sample of 8,984 youths who were 12-16 years old as of late December 1996. For both NLSY cohorts, there are detailed information on family background and income as well as on individual scholastic ability (measured by AFQT scores). Interviews are ongoing for both cohorts and conducted on a annual or biannual basis. The NLSY is one of the most commonly used data set in the US. While the surveys have been constructed to preserve symmetry across cohorts, attrition appears to be slightly more important in the 1997 cohort.⁸

Because we are primarily interested in the effect of family income on college decisions, we remove all respondents who are older than 18 at the time of the first survey. In the end, we retain only respondents born between

⁷Evaluating the importance of changes in educational selectivity is currently raising much interest in the literature (see Ashworth et al., 2017 and Bound et al., 2010).

 $^{^{8}}$ An in-depth comparison between the 79 and 97 cohorts is found in Nielsen (2015).

1961 and 1964 in the NLSY79 and respondents born between 1980 and 1983 in the NLSY97. Our selection criteria in this regard therefore closely resemble those used by Belley and Lochner (2007), Kinsler and Pavan (2011) and others.

Further, we exclude those with missing information on included observed characteristics such as family income, AFQT scores, mother's education, family stability (whether the individual report having been raised within a nuclear family or not), number of siblings, age of the mother at birth, area of residence (urban vs. rural), and ethnic background. Given that our model deals with grade progression, we also require individual grade transitions to be observed for the first six surveys. After these exclusions, we obtain samples of 2,151 individuals for the 1979 cohort, and 2,651 individuals for the 1997 cohort.

Following Belley and Lochner (2007), Kinsler and Pavan (2011) and others, we use information on family income for each individual at ages 16 and 17, if available, and construct an average income measure. If income is only available for one of the years, the average income is replaced by that income. If no income information is available for these ages, we consider income at earlier ages if available in order to minimize the number of individuals dropped because of missing income. For both cohorts, we express income in year 2000 dollars using the CPI for all urban consumers.

As is common in the earlier literature, we use AFQT scores to control for cognitive ability. AFQT scores are an average of 4 components of the Armed Services Vocational Aptitude Battery (ASVAB) and should therefore contain a lesser measurement error level than each component introduced separately.⁹ We use scores provided by Altonji et. al. (2012) which are adjusted to improve comparability across cohorts. To take into account differences in AFQT's that could be explained by differences in education and age when it was measured, we regress AFQT scores on age and education and use the standardized value of the residual as the cognitive ability indicator.

For each individual, we measure schooling attainment as indicated by the highest grade completed by each given age, and do so between age 16 until age 26. Measuring schooling until grade transitions from age 25 to 26 constitutes a major difference with most of the papers found in the literature (such as Belley and Lochner, 2007) who investigated the determinants of

⁹The AFQT components are Arithmetic Reasoning, Word Knowledge, Paragraph Comprehension, and Mathematics Knowledge.

schooling attainments by age 21 (focussing on college participation).

To gage the representativeness of our sample, we report a table in which the average values of some regressors in the overall NLSY core sample may be compared with the averages in our sample. This table is denominated Table S1. A detailed description of the number of exclusions induced by our selection criteria is provided in Table S2. Overall, our sample is quite comparable to the pre-selection NLSY in terms of all observed characteristics.

3 Summary Statistics

Some of the main characteristics of our samples are found in Table 1 (devoted to summary statistics). First, mean family income grew by about 21 percent (from \$54,155 to \$65,572). This corresponds to a 1 percent growth rate per year, which matches aggregate measures provided by the Bureau of Labor Statistics.¹⁰ Other studies, including Kinsler and Pavan (2011), Lovenheim and Reynolds (2011), Castex and Dechter (2014) and Nielsen (2015) report similar family income growth.¹¹

As is well known, income dispersion has increased even more over this period. In our sample, the standard deviation of family income increased from \$33,308 in the 1979 sample to \$58,136 in the 1997 sample. Not surprisingly, family income is higher than average among college entrants. Finally, schooling attainments have increased at all income quartiles but the largest increase has been observed for those in the third family income quartile (from 13.3 to 14.1 years).

To obtain a clearer picture of the relationship between education and family income, we also compute average schooling attainments (highest grade completed by age 25) for the first, second, third and fourth income quartiles in the 1979 cohort and compare them to the corresponding quartiles in the 1997 cohort. These statistics incorporate both the effects of a change in income effects as well as the effects of an increase in income dispersion due largely to changes in income thresholds defining the third and fourth quartiles.

There are 2 main observations to be made after examining highest grade completed and income quartiles. First, schooling attainments have increased

¹⁰According to the Bureau of Labor Statistics (variable MEFAINUSA672N), median household income grew by 20.6 percent between 1980 and 2000.

¹¹Castex and Dexter (2014) report changes in the logarithm of income but their sample data also discloses a growth in real income levels which is comparable to ours.

at all income quartiles. A second feature emerging is that the largest increase has been observed for those in the third quartile (from 13.3 to 14.1 years). Those in the first, second and fourth quartiles have experienced a practically identical increase of about 0.4 year.

Information about AFQT scores are found in the second panel of Table 1. Unlike family income, the average AFQT score has remained more or less stable across cohorts. Average AFQT scores of those who have graduated from college exceed both average AFQT among college participants and average AFQT in the population. There seems to be a slight decrease in AFQT scores of college participants (from 185.8 to 182.2). In line with the recent evolution of college selectivity described in Hoxby (2009), this suggests that college has become globally less selective on cognitive skills.

4 Real Income vs Relative Income: OLS estimates

It is interesting to evaluate the impact of real income on highest grade completed obtained from standard OLS regressions and compare those with estimates measuring differences in schooling by income quartiles. As mentioned earlier, the literature has focus almost exclusively on inter-quartile education differences on relatively early education outcomes (around age 21).

In Table S3, we report OLS estimates of regressions of highest grade completed by age 25 on both real income and relative income (income quartiles) as well as individual characteristics. The most striking result is by far the decrease in the effect of real income. In the 1979 cohort, the effect of a \$10,000 difference in family income was about 0.12 year of schooling. In the 1997 cohort, it has been divided by 3 to reach 0.04.

Interestingly, this spectacular decrease is not incompatible with the existence of some increase in education attainment differential between specific quartiles. In reference to the first quartile (Q1), the 3rd quartile (Q3) differential appears to be the only one which has increased as it moved from 0.495 in the 1979 cohort to 0.652 in the 1997 cohort. Indeed, it is also noticeable that education differences between those in the 3rd and 2nd quartiles also increased as the Q3-Q2 difference grew from 0.23 year of schooling (0.495-0.257) in the 1979 cohort to 0.43 year (0.652-0.222) in the 1997 cohort.

However, and at the same time, it is interesting to note that the schooling attainment differences between the highest and the lowest quartiles has decreased, going from 0.994 (in the 1979 cohort) to 0.821 (in the 1997 cohort). Similarly, the education gap between the second and the first quartile has practically not moved.

To summarize, OLS estimates disclose an interesting paradox. That is the existence of a simultaneous increase in differences in average schooling attainments between some income quartiles (but not all) and a decrease in the effect of real income on schooling attainments. Obviously, these differences do not account for dynamic selection. If the grade accumulation process is affected by unobserved heterogeneity and its dispersion is sufficiently high, income effect estimates may change drastically.

5 Robustness

To verify the robustness of our results, we implemented two different versions of the model.

First, and in order to check to what extent our main results are driven by the correlation between unobserved abilities and the projection of noncognitive skill measures onto family characteristics, we estimate a version that does not use non-cognitive measures and thereby assumes that the distribution of types depends on initial grade only. In such a case, each type m is therefore endowed with a vector $\{\beta_{0m}^{16}, \beta_{0m}^{19}, \beta_{0m}^{22}\}$ with proportion $p_m(.)$ where

$$p_m(G_{16}) = \frac{\exp(\tilde{p}_m + \tilde{p}_{mG} \cdot G(16))}{1 + \sum_{j=2}^M \exp(\tilde{p}_j + \tilde{p}_{jG} \cdot G(16))}$$

This sort of specification, common in the econometrics of duration data and dynamic discrete choices, would only allow for an indirect correlation between unobserved heterogeneity and family income, AFQT and other regressors to the extent that grade attainment at grade 16 is also correlated with those variables.

The results are summarized in Table S4 and indicate that most marginal effects remain comparable (up to the 3rd decimal). All features regarding the decreasing importance of income effects and AFQT scores, and which were discussed earlier, carry through.

Second, and in order to evaluate the potential sensitivity of our results to the presence of very high and very low income, we also re-estimate the models after removing the top 1% and the bottom 1% income levels. This may be justified by the potentially higher likelihood of mis-measurement of income at extreme levels. Overall, removing those extreme income levels has no impact on our main results. The results, found in Table S5, still indicate lower marginal effects on both grade progression and highest grade completed for the 1997 cohort compared with the 1979 cohort.

To illustrate this, let's focus on grade attainments and college participation. For highest grade completed, the age 25 income effect dropped from 0.073 (in the 1979 cohort) to 0.040 (in the 1997 cohort). For the incidence of income on college participation, we note a drop from 1.8% to 0.4%.

This indicates relatively clearly that our main results appear to be in no way explained by the behavior of individuals endowed with either very low or very high family income levels.

6 References

[1] Abbot, Brant, Giovanni Gallipoli, Costas Meghir, and Giovanni L. Violante (2016) Education Policy and Intergenerational Transfers in Equilibrium, NBER Working Paper No. w18782,

[2] Bailey, Martha J. and Susan M. Dynarski (2011), Inequality in postsecondary education, in Whither Opportunity?: Rising Inequality, Schools, and Children's Life Chances, Greg J. Duncan and Richard J. Murnane, eds. (New York: Russell Sage), 117-132.

[3] Belley, Philippe and Lance Lochner (2007), The Changing Role of Family Income and Ability in Determining Educational Achievement, *Journal of Human Capital*, 1, 37-89.

[4] Bound, John, Michael Lovenheim, and Sara Turner (2010): "Why have college completion rates declined? An analysis of changing student preparation and collegiate resources," *American Economic Journal: Applied Economics*, 2(3), 129–57.

[5] Cameron Stephen V. and James J. Heckman (1998), Life Cycle Schooling and Dynamic Selection Bias: Models and Evidence for Five Cohorts of American Males, *Journal of Political Economy*, 106, 262-333.

[6] Cameron Stephen V. and Christopher Taber (2004), Estimation of Educational Borrowing Constraints using Returns to Schooling, *Journal of Political Economy*, 112, 132-182.

[7] Carneiro Pedro and James .J. Heckman (2002) The Evidence on Credit Constraints in Post-Secondary Schooling, *Economic Journal*, 112, 705-734.

[8] Castex, Gonzalo and Evgenia K. Dechter (2014), The Changing Role

of Education and Ability in Wage Determination, *Journal of Labor Economics*, 32, 685-710.

[9] Chetty, Raj, Nathaniel Hendren, Patrick Kline, Emmanuel Saez, and Nicholas Turner (2014), Is the United States Still a Land of Opportunity? Recent Trends in Intergenerational Mobility, *American Economic Review* 104, 141-147.

[10] Dynarski, Susan M. and Judith Scott-Clayton (2013), Financial Aid Policy: Lessons from Research, Future of Children, 23, 67-91.

[11] Hai, Rong and James J. Heckman (2017), Inequality in Human Capital and Endogenous Credit Constraints, *Review of Economic Dynamics*, 25, 4-36.

[12] Keane, Michael P. and Kenneth I. Wolpin (1997), The Career Decisions of Young Men, *Journal of Political Economy*, 105, 473-522.

[13] Kinsler, Josh and Ronni Pavan (2011), Family Income and Higher Education Choices: The Importance of Accounting for College Quality, *Journal of Human Capital*, 5, 453-477.

[14] Lochner, Lance J. and A. Monge-Naranjo (2011), The nature of credit constraints and human capital, *American Economic Review* 101(6), 2487-2529.

[15] Lovenheim, Michael and C. Lockwood Reynolds (2007), Changes in Postsecondary Choices by Ability and Income: Evidence from the National Longitudinal Surveys of Youth, *Journal of Human Capital*, 5, 70-109.

[16] Lovenheim, Michael F. and C. Lockwood Reynolds (2011), The Effect of Housing Wealth on College Choice: Evidence from the Housing Boom, *Journal of Human Resources* 48, 1-35.

[17] Nielsen, Eric R. (2015), The Income-Achievement Gap and Adult Outcome Inequality, Finance and Economics Discussion Series 2015-041. Washington: Board of Governors of the Federal Reserve System. Table S1: Means of Selected Variables Before and After Sample Selections

	1979 cohort		1997 (cohort
	Before	After	Before	After
Male	0.499	0.494	0.509	0.499
Intact Family	0.738	0.788	0.527	0.581
Urban	0.764	0.762	0.751	0.736
Number of Siblings	3.2	3.1	2.3	2.3
Black	0.131	0.115	0.161	0.135
Hispanics	0.081	0.078	0.125	0.107
Highest grade completed	11.8	13.1	12.8	13.6
College attendance	0.39	0.45	0.50	0.58
College graduation	0.19	0.22	0.25	0.31
Sample size	2,987	2,151	5 <i>,</i> 405	2,651

Table S2: Details on Sample selections

Remaining individuals after:	NLSY 1979	NLSY 1997
Selecting cross-section and individuals between 14 and 17 in 1979 or 1997	2,987	5,405
Removing those with missing or no family income	2,840	4,476
Removing those with missing information on mother's age at birth	2,532	4,254
Removing those who reported family income instead of their parents		4,190
Removing those with missing on nuclear family, urban residence and AFQT	2,444	2,792
Removing those who did not participate at least 6 years in the panel	2,274	2,718
Removing those with missing information on mother's education and non-cognitive test scores	2,151	2,651

	1979	1979 cohort		
Variable	Estimate	T-statistic	Estimate	T-statistic
	0.467	0.76	0.400	40.07
Mother's education	0.167	9.76	0.190	10.07
Intact Family	0.195	2.00	0.899	9.64
Rural	0.061	0.70	-0.015	-0.16
Number of Siblings	-0.098	-5.00	0.000	0.01
Black	1.118	8.51	0.835	6.27
Hispanic	0.643	4.28	0.252	1.74
Mother's age at birth	0.034	5.44	0.033	3.54
Male	-0.146	-1.99	-0.545	-6.47
AFQT	1.014	23.12	1.057	22.17
Family income	0.119	9.34	0.044	5.45
Mother's education	0.173	10.09	0.186	9.89
Intact Family	0.219	2.22	0.798	8.27
Rural	0.061	0.69	-0.023	-0.23
Number of Siblings	-0.097	-4.94	0.005	0.12
Black	1.124	8.43	0.869	6.53
Hispanic	0.657	4.34	0.278	1.93
Mother's age at birth	0.034	5.44	0.033	3.53
Male	-0.146	-1.99	-0.565	-6.72
AFQT	1.020	23.18	1.046	21.94
Family income - Q2	0.257	2.36	0.222	1.82
Family income - Q3	0.495	4.35	0.652	5.04
Family income - Q4	0.994	8.25	0.821	6.04
Sample size	2,	151	2,	651

Table S3: Marginal Effects of Observed Characteristics on HGC - Obtained from OLS

Note: Income is measured in \$10,000s and adjusted using CPI-U.

		Inco	me			AFQT			
	19	979	19	997	19	979	19	997	
	m.e.	std dev							
Grade Transition Probability									
Age 18	0.011	0.002	0.007	0.003	0.024	0.002	0.023	0.003	
Age 20	0.014	0.005	0.006	0.005	0.046	0.005	0.022	0.005	
Age 22	0.005	0.004	0.001	0.004	0.033	0.004	0.012	0.004	
Highest Grade Completed									
Age 18	0.016	0.006	0.021	0.010	0.035	0.006	0.067	0.010	
Age 20	0.041	0.016	0.035	0.021	0.104	0.016	0.117	0.021	
Age 22	0.069	0.024	0.045	0.029	0.201	0.024	0.163	0.029	
Age 25	0.078	0.028	0.051	0.037	0.295	0.028	0.213	0.037	
College Attendance									
Age 25	0.012	0.006	0.007	0.007	0.031	0.006	0.027	0.007	

Table S4: Marginal Effects of Family Income and AFQT scores on Educational Attainment - Model without Non-cognitive Measures

		Inco	me			AF	ΩТ	
	19	979	19	997	19	979	19	997
	m.e.	std dev						
Grade Transition Probability								
Age 18	0.009	0.002	0.007	0.004	0.024	0.002	0.020	0.004
Age 20	0.014	0.004	0.004	0.005	0.062	0.004	0.012	0.005
Age 22	0.004	0.003	0.001	0.004	0.037	0.003	0.003	0.004
Highest Grade Completed								
Age 18	0.011	0.003	0.017	0.011	0.028	0.003	0.052	0.011
Age 20	0.046	0.013	0.027	0.021	0.188	0.013	0.079	0.021
Age 22	0.066	0.019	0.035	0.030	0.300	0.020	0.100	0.030
Age 25	0.073	0.023	0.040	0.040	0.371	0.023	0.111	0.040
College Attendance								
Age 25	0.018	0.007	0.004	0.007	0.093	0.007	0.017	0.007

Table S5: Marginal Effects of Family Income and AFQT scores on Educational Attainment - Trimmed Sample

	Rott	ter	Rosenberg
	Estimate	Std err	Estimate Std err
AFQT	0.476	0.058	1.028 0.097
Family income	0.035	0.017	0.045 0.028
Mother's education	0.014	0.023	0.059 0.038
Intact Family	0.151	0.128	-0.373 0.214
Rural	-0.098	0.115	-0.082 0.192
Number of siblings	-0.025	0.026	-0.077 0.043
Black	0.192	0.172	2.113 0.289
Hispanic	0.138	0.197	1.008 0.331
Mother's age at birth	-0.005	0.008	0.029 0.014
Male	0.253	0.096	0.511 0.161
Intercept	-0.182	0.360	-1.392 0.604

Table S6: Regressions of Rotter and Rosenberg scores for the 1979 NLSY cohort.

	19	979	1997
_			
Highest Grade Completed	Data	Model	Data Model
6	0.09	0.00	0.15 0.08
7	0.42	0.09	0.15 0.15
8	1.44	0.56	2.45 1.47
9	2.28	1.58	3.96 3.13
10	3.86	4.51	5.96 4.38
11	7.53	9.58	6.75 7.02
12	38.91	16.78	22.63 9.69
13	9.11	16.64	9.81 10.75
14	8.65	10.13	8.86 6.75
15	5.95	11.81	8.64 9.39
16	15.76	12.60	15.09 14.64
17	4.00	9.02	8.98 13.50
18	1.58	4.70	4.26 9.20
19	0.42	1.53	2.04 7.32
20	0.00	0.46	0.26 2.45
21	0.00	0.00	0.00 0.08
Average	13.10	13.80	13.60 14.70
College Attendance	0.46	0.67	0.58 0.74
College Graduation	0.22	0.28	0.31 0.47

 Table S7: Comparison of Highest Grade Completed in Data and Predicted by our Model

Table S8: Parameter Estimates for 10-type model

		1979 cohort			1997 cohor	t
Transitions - Age 16-18	Estimate	std. err.	T-statistic	Estimate	std. err.	T-statistic
g1x1 (mothers ed)	0.115	0.014	8.45	0.063	0.013	4.81
g1x2 (nuclear)	0.088	0.085	1.04	0.497	0.072	6.91
g1x3 (rural)	0.364	0.083	4.41	0.170	0.062	2.73
g1x4 (siblings)	-0.055	0.021	-2.69	-0.010	0.030	-0.35
g1x5 (black)	1.215	0.147	8.24	0.420	0.067	6.22
g1x6 (hisp)	0.696	0.116	6.01	-0.039	0.087	-0.45
g1x7 (mothers age)	0.029	0.006	4.96	0.019	0.006	2.98
g1x8 (male)	-0.133	0.083	-1.61	-0.183	0.065	-2.84
g1x9 (b-year=1962)	-0.126	0.097	-1.30	0.207	0.078	2.65
g1x10 (b-vear=1963)	-0.269	0.094	-2.88	0.166	0.078	2.12
g1x11 (b-vear=1964)	-0.202	0.105	-1.93	0.043	0.078	0.54
g16 (afot)	0.556	0.072	7.75	0.382	0.037	10.48
g16 (income)	0 191	0.037	5 23	0.057	0.016	3 52
g16 (income sa)	-0.009	0.003	-3.66	-0.001	0.001	-2 52
510 (meonie 34)	0.005	0.005	5.00	0.001	0.001	2.52
Transitions - Age 19-21	0.422	0.001	5.05	0.077	0.016	4.00
g2x1 (mothers ed)	0.122	0.021	5.95	0.077	0.016	4.99
g2x2 (nuclear)	-0.415	0.139	-2.99	0.327	0.083	3.97
g2x3 (rural)	0.203	0.113	1.79	-0.106	0.070	-1.52
g2x4 (siblings)	-0.078	0.025	-3.10	0.017	0.033	0.51
g2x5 (black)	1.706	0.226	7.57	0.282	0.098	2.88
g2x6 (hisp)	1.266	0.192	6.59	-0.175	0.119	-1.47
g2x7 (mothers age)	0.018	0.008	2.22	0.017	0.008	2.15
g2x8 (male)	-0.299	0.106	-2.81	-0.557	0.066	-8.47
g2x9 (b-year=1962)	-0.513	0.128	-4.00	-0.133	0.068	-1.95
g2x10 (b-year=1963)	-0.583	0.133	-4.38	0.015	0.065	0.23
g2x11 (b-year=1964)	-0.821	0.136	-6.05	-0.239	0.061	-3.91
g19 (afqt)	0.738	0.097	7.63	0.461	0.055	8.42
g19 (income)	0.058	0.047	1.23	0.048	0.016	2.98
g19 (income sq)	-0.001	0.003	-0.19	-0.001	0.000	-2.40
g19 (non-school)	-1.054	0.059	-17.88	-1.234	0.042	-29.10
g19 (location)	2.650	0.364	7.28	5.365	0.360	14.91
g19(scale)	0.509	0.102	4.99	1.601	0.079	20.19
Transitions - Age 22-25						
g2x1 (mothers ed)	0.017	0.018	0.92	0.050	0.016	3.12
g2x2 (nuclear)	-0.225	0.112	-2.01	0.047	0.077	0.61
g2x3 (rural)	-0.044	0.096	-0.46	-0.096	0.061	-1.56
g2x4 (siblings)	-0.034	0.026	-1.32	0.039	0.035	1.09
g2x5 (black)	-0.005	0.114	-0.05	0.279	0.126	2.22
g2x6 (hisp)	0.111	0.101	1.10	0.182	0.079	2.32
g2x7 (mothers age)	0.004	0.007	0.53	0.016	0.008	1.87
g2x8 (male)	0.122	0.081	1.51	-0.236	0.072	-3.28
g2x9 (b-year=1962)	-0.036	0.082	-0.43	-0.396	0.088	-4.49
g2x10 (b-vear=1963)	-0.125	0.082	-1.52	-0.331	0.079	-4.18
g2x11 (b-vear=1964)	-0.157	0.086	-1.83	-0.277	0.078	-3.53
g22 (afgt)	0.429	0.057	7.56	0.271	0.069	3.96
g22 (income)	-0.001	0.038	-0.03	-0.001	0.017	-0.08
g22 (income sq)	0.001	0.002	0.29	-0.001	0.001	-1.06
g22 (non-school)	-0.434	0.024	-17.86	-0 273	0.024	-11 20
g22 (location)	-0 214	0 345	-0.62	6 276	0.639	9.82
g22(scale)	-3.716	0.443	-8.38	2.355	0.068	34.85

Table S8: continued 1979 cohort 1997 cohort Type probabilities Estimate std. err. T-statistic Estimate std. err. T-statistic Prt 1: cons -0.889 0.411 -2.16 16.404 1.403 11.69 Prt 1: Initial hgc 0.860 0.115 7.45 -1.587 0.145 -10.98 Prt 1: Locus -2.010 0.482 -4.17 -0.724 0.378 -1.91 0.199 0.248 Prt 1: Rosen 0.671 3.37 0.111 0.45 Prt 2: cons -0.025 0.005 -5.44 3.243 0.268 12.10 Prt 2: Initial hgc -0.265 0.022 -11.94 -1.745 0.155 -11.30 0.006 -16.06 -0.314 0.013 -23.67 Prt 2: Locus -0.090 Prt_2: Rosen 0.008 -20.150.103 0.033 3.14 -0.163Prt 3: cons -0.006 0.005 -1.12 1.077 0.088 12.28 Prt 3: Initial hgc -0.080 0.022 -3.60 -1.285 0.123 -10.49 Prt 3: Locus -0.061 0.005 -11.72 -0.487 0.031 -15.60 Prt 3: Rosen -0.106 0.009 -12.08 -0.140 0.011 -13.41 Prt 4: cons 0.006 0.006 0.94 0.303 0.026 11.63 Prt 4: Initial hgc 0.050 0.032 1.58 -0.932 0.090 -10.37 0.005 Prt_4: Locus -0.049 -9.45 -0.277 0.019 -14.61 Prt 4: Rosen -0.091 0.011 -8.68 0.190 0.018 10.81 Prt 5: cons 0.033 0.011 2.93 -0.073 0.006 -12.67 0.419 0.127 3.29 -2.873 0.224 -12.83 Prt 5: Initial hgc -0.042 0.006 -7.31 -0.256 0.020 -13.04Prt 5: Locus Prt 5: Rosen -0.138 0.028 -4.87 0.645 0.052 12.39 Prt 6: cons 2.640 0.645 4.09 -0.653 0.053 -12.43 -4.783 Prt 6: Initial hgc 0.245 0.163 1.50 0.388 -12.33 Prt 6: Locus -1.177 0.447 -2.63 -0.161 0.014 -11.34 Prt 6: Rosen -0.363 0.248 -1.46 1.018 0.081 12.60 Prt_7: cons 0.497 0.061 8.16 -5.690 0.497 -11.44 Prt_7: Initial hgc -0.375 0.170 -2.21 0.743 0.076 9.73 Prt 7: Locus -0.166 0.034 -4.91 -1.267 0.272 -4.66 Prt 7: Rosen -0.435 0.072 -6.04 0.026 0.147 0.17 Prt 8: cons -2.300 0.675 -3.41 -0.980 0.078 -12.66 Prt 8: Initial hgc 0.610 0.070 8.75 -5.548 0.452 -12.29 Prt 8: Locus 3.418 0.464 7.36 0.144 0.008 18.63 Prt 8: Rosen -0.311 0.172 -1.81 0.928 0.069 13.49 -0.037 Prt 9: cons 0.007 -5.44 -6.449 0.571 -11.30 -0.982 -9.83 0.075 Prt_9: Initial hgc 0.100 0.887 11.88 Prt 9: Locus 0.272 0.015 18.54 -0.356 0.262 -1.36 Prt 9: Rosen 0.840 0.050 16.68 0.171 0.192 0.89

Table S9: Parameter Estimates for 10-type model - orthogonal UH

		1979 cohort			1997 cohor	t
Transitions - Age 16-18	Estimate	std. err.	T-statistic	Estimate	std. err.	T-statistic
g1x1 (mothers ed)	0.060	0.013	4.67	0.070	0.013	5.40
g1x2 (nuclear)	0.231	0.092	2.51	0.501	0.072	7.00
g1x3 (rural)	0.212	0.088	2.40	0.158	0.070	2.27
g1x4 (siblings)	-0.049	0.019	-2.61	-0.008	0.029	-0.26
g1x5 (black)	0.804	0.128	6.27	0.419	0.101	4.13
g1x6 (hisp)	0.460	0.138	3.33	0.089	0.098	0.91
g1x7 (mothers age)	0.023	0.006	4.02	0.019	0.006	3.06
g1x8 (male)	-0.015	0.072	-0.20	-0.170	0.065	-2.63
g1x9 (b-year=1962)	-0.144	0.098	-1.47	0.174	0.080	2.19
g1x10 (b-year=1963)	-0.276	0.102	-2.71	0.093	0.076	1.22
g1x11 (b-year=1964)	-0.194	0.111	-1.74	-0.010	0.083	-0.13
g16 (afgt)	0.585	0.044	13.19	0.425	0.037	11.34
g16 (income)	0.136	0.036	3.79	0.062	0.016	3.78
g16 (income sq)	-0.004	0.003	-1.75	-0.001	0.001	-2.60
Transitions - Age 19-21						
g2x1 (mothers ed)	0 1 1 1	0.021	5 37	0.093	0.016	5 86
g_{2x2} (nuclear)	0.064	0.021	0.55	0.055	0.010	4 99
g2x2 (nuclear)	-0.020	0.113	-0.20	-0 131	0.072	-1 95
$g_2 \times 3$ (rului) $g_2 \times 4$ (siblings)	-0.020	0.023	-3.20	0.131	0.000	0.70
g2x5 (black)	1 1 1 9	0.025	6 71	0.024	0.000	4.63
g2x6 (hish)	1.115	0.107	5 3/	-0.032	0.101	-0.28
g2x7 (mothers age)	0.023	0.194	3.18	0.032	0.117	-0.28
g_{2xy} (mothers age)	-0.060	0.007	_0 71	-0 442	0.000	-6.34
g_{2x0} (hale) g_{2x0} (hale)	-0.272	0.084	-0.71	-0.442	0.070	-0.34
g_{2X3} (D-year - 1962)	-0.373	0.113	-3.24	-0.110	0.090	-1.30
$g_{2\times10}$ (b-year = 1903)	-0.438	0.120	-3.00	0.002	0.091	2 70
g10 (ofot)	-0.717	0.120	-5.00	-0.241	0.089	-2.70
g19 (arqt)	1.049	0.004	2 00	0.034	0.045	14.10
g19 (income ca)	0.064	0.042	2.00	0.009	0.010	4.54
g19 (income sq)	1.001	0.005	0.24	-0.001	0.001	-2.95
g19 (non-school)	-1.277	0.050	-22.74	-1.242	0.043	-29.10
	4.535	0.527	20.00	4.044	0.390	10.38
g19(scale)	1.962	0.094	20.98	1.192	0.104	11.43
Transitions - Age 22-25						
g2x1 (mothers ed)	0.020	0.018	1.11	0.062	0.017	3.64
g2x2 (nuclear)	-0.201	0.118	-1.70	0.056	0.061	0.93
g2x3 (rural)	-0.055	0.100	-0.55	-0.152	0.063	-2.41
g2x4 (siblings)	-0.033	0.025	-1.33	0.049	0.036	1.34
g2x5 (black)	-0.013	0.175	-0.07	0.251	0.120	2.09
g2x6 (hisp)	0.064	0.199	0.32	0.204	0.119	1.71
g2x7 (mothers age)	0.005	0.007	0.71	0.017	0.008	2.05
g2x8 (male)	0.130	0.079	1.65	-0.138	0.068	-2.04
g2x9 (b-year=1962)	-0.009	0.111	-0.08	-0.323	0.104	-3.10
g2x10 (b-year=1963)	-0.099	0.115	-0.86	-0.264	0.106	-2.48
g2x11 (b-year=1964)	-0.131	0.123	-1.07	-0.178	0.102	-1.74
g22 (afqt)	0.442	0.066	6.71	0.373	0.052	7.17
g22 (income)	0.001	0.037	0.03	0.018	0.017	1.03
g22 (income sq)	0.001	0.002	0.26	-0.001	0.001	-1.57
g22 (non-school)	-0.412	0.032	-12.95	-0.282	0.023	-12.10
g22 (location)	-0.203	0.389	-0.52	2.309	0.478	4.84
g22(scale)	-0.673	0.552	-1.22	1.556	0.105	14.78

Table S9: continued		1979 cohort		1997 cohort		
Type probabilities	Estimate	std. err.	T-statistic	Estimate	std. err.	T-statistic
Prt_1: cons	142.263	48.742	2.92	15.055	1.518	9.92
Prt_1: Initial hgc	29.506	11.070	2.67	0.993	0.162	6.14
Prt_2: cons	0.424	0.175	2.43	4.703	0.448	10.49
Prt_2: Initial hgc	-9.379	3.218	-2.91	-0.388	0.145	-2.67
Prt_3: cons	-3.354	1.171	-2.86	2.263	0.215	10.53
Prt_3: Initial hgc	-31.378	11.099	-2.83	-2.169	0.248	-8.75
Prt_4: cons	-8.168	2.886	-2.83	0.712	0.067	10.62
Prt_4: Initial hgc	-50.485	17.974	-2.81	-3.734	0.431	-8.67
Prt 5: cons	-102.285	36.731	-2.78	0.019	0.009	2.20
Prt_5: Initial hgc	54.583	19.738	2.77	-3.259	0.301	-10.83
Prt_6: cons	-15.691	5.571	-2.82	-0.892	0.084	-10.66
Prt_6: Initial hgc	-57.363	20.501	-2.80	-6.095	0.571	-10.68
Prt_7: cons	-99.435	35.215	-2.82	-10.749	1.128	-9.53
Prt_7: Initial hgc	54.532	19.610	2.78	3.731	0.400	9.34
Prt_8: cons	134.908	48.963	2.76	-0.851	0.080	-10.66
Prt_8: Initial hgc	30.482	11.029	2.76	-5.250	0.495	-10.61
Prt_9: cons	-103.724	36.060	-2.88	-7.855	1.197	-6.56
Prt_9: Initial hgc	54.727	19.689	2.78	3.458	0.424	8.15

Table S10: Parameter Estimates for 1-type model

		1979 cohort			1997 cohort	:
Transitions - Age 16-18	Estimate	std. err.	T-statistic	Estimate	std. err.	T-statistic
g1x1 (mothers ed)	0.090	0.016	5.51	0.099	0.012	8.27
g1x2 (nuclear)	0.260	0.059	4.39	0.550	0.057	9.59
g1x3 (rural)	0.252	0.063	4.03	0.184	0.041	4.48
g1x4 (siblings)	-0.042	0.018	-2.36	0.012	0.025	0.49
g1x5 (black)	0.885	0.097	9.17	0.515	0.071	7.31
g1x6 (hisp)	0.515	0.108	4.75	0.209	0.057	3.69
g1x7 (mothers age)	0.029	0.006	4.91	0.028	0.006	4.47
g1x8 (male)	-0.019	0.031	-0.61	-0.175	0.026	-6.78
g1x9 (b-year=1962)	-0.117	0.065	-1.81	0.112	0.066	1.71
g1x10 (b-year=1963)	-0.250	0.065	-3.84	0.040	0.057	0.70
g1x11 (b-year=1964)	-0.148	0.060	-2.45	-0.074	0.079	-0.94
g16 (afqt)	0.570	0.041	13.83	0.475	0.031	15.40
g16 (income)	0.165	0.033	4.96	0.076	0.014	5.62
g16 (income sq)	-0.006	0.002	-2.60	-0.002	0.000	-3.98
g16(location)	-1.350	0.269	-5.03	-1.817	0.240	-7.58
Transitions - Age 19-21	0.095	0.015	E E C	0.094	0.011	7 42
g2x2 (mothers eu)	0.065	0.013	0.10	0.064	0.011	7.42
g2x2 (nuclear)	-0.005	0.042	-0.12	0.291	0.027	2 20
g2x5 (luldi)	-0.051	0.041	-0.75	-0.099	0.029	-3.39
g2x4 (SIDIIIIgS)	-0.037	0.019	-5.07	0.010	0.040	0.25
g2x5 (DidLK)	0.769	0.081	9.72	0.412	0.092	4.40
g_{2x2} (misp)	0.012	0.120	0.70	0.004	0.071	0.05
g2x7 (mole)	0.017	0.000	5.06	0.010	0.008	1.09
g_{2x0} (male)	0.009	0.077	0.12	-0.391	0.044	-8.90
g_{2x10} (b year=1062)	-0.506	0.005	-4.74	-0.128	0.034	-5.80
g_{2x10} (D-year=1903)	-0.333	0.074	-4.51	0.000	0.020	0.01
g2X11 (D-yed1=1904)	-0.482	0.064	-7.50	-0.226	0.035	-0.45
g19 (diqt)	0.739	0.043	1/.38	0.564	0.035	10.00
g19 (income)	0.044	0.032	1.37	0.064	0.011	
g19 (income sq)	0.002	0.002	0.94	-0.001	0.000	-3.74
g19 (non-school)	-1.410	0.046	-30.71	-1.300	0.037	-37.10
g19 (location)	1.478	0.305	4.85	1.740	0.221	7.86
Transitions - Age 22-25						
g2x1 (mothers ed)	0.019	0.014	1.36	0.039	0.009	4.42
g2x2 (nuclear)	-0.203	0.036	-5.62	-0.029	0.017	-1.75
g2x3 (rural)	-0.057	0.092	-0.63	-0.112	0.019	-5.85
g2x4 (siblings)	-0.031	0.025	-1.24	0.028	0.023	1.25
g2x5 (black)	-0.040	0.023	-1.79	0.153	0.025	6.16
g2x6 (hisp)	0.031	0.065	0.48	0.205	0.036	5.78
g2x7 (mothers age)	0.005	0.006	0.75	0.009	0.005	1.82
g2x8 (male)	0.129	0.040	3.23	-0.046	0.020	-2.30
g2x9 (b-year=1962)	-0.003	0.052	-0.06	-0.302	0.055	-5.46
g2x10 (b-year=1963)	-0.095	0.040	-2.37	-0.247	0.063	-3.93
g2x11 (b-year=1964)	-0.121	0.053	-2.31	-0.149	0.066	-2.27
g22 (afqt)	0.421	0.053	7.94	0.246	0.034	7.16
g22 (income)	-0.001	0.035	-0.02	0.004	0.012	0.38
g22 (income sq)	0.001	0.002	0.28	-0.001	0.000	-1.47
g22 (non-school)	-0.437	0.022	-20.01	-0.466	0.015	-30.33
g22 (location)	-0.326	0.060	-5.44	-0.155	0.008	-20.65

Table S11: Parameter Estimates for 10-type model - trimmed income

		1979 cohort			1997 cohor	t
Transitions - Age 16-18	Estimate	std. err.	T-statistic	Estimate	std. err.	T-statistic
g1x1 (mothers ed)	0.115	0.014	7.97	0.064	0.013	4.85
g1x2 (nuclear)	0.204	0.100	2.04	0.514	0.060	8.63
g1x3 (rural)	0.298	0.094	3.18	0.155	0.028	5.51
g1x4 (siblings)	-0.054	0.020	-2.70	-0.007	0.029	-0.24
g1x5 (black)	1.224	0.156	7.84	0.246	0.045	5.42
g1x6 (hisp)	0.655	0.150	4.36	-0.051	0.034	-1.50
g1x7 (mothers age)	0.025	0.006	4.23	0.020	0.006	3.19
g1x8 (male)	-0.100	0.081	-1.24	-0.197	0.064	-3.08
g1x9 (b-year=1962)	-0.141	0.106	-1.33	0.216	0.043	5.02
g1x10 (b-vear=1963)	-0.291	0.109	-2.66	0.134	0.034	3.95
g1x11 (b-vear=1964)	-0.212	0.117	-1.82	0.041	0.033	1.22
g16 (afat)	0.612	0.061	10.05	0 373	0.038	9.85
g16 (income)	0.012	0.001	3 85	0.059	0.030	3.60
g16 (income sa)	-0.009	0.040	-2 /17	-0.001	0.01	-2 59
gro (meome sq)	-0.005	0.004	-2.47	-0.001	0.001	-2.55
Transitions - Age 19-21	0.422	0.000	5.02	0.070	0.015	
g2x1 (mothers ed)	0.133	0.023	5.93	0.076	0.015	4.94
g2x2 (nuclear)	-0.312	0.144	-2.17	0.412	0.074	5.60
g2x3 (rural)	0.181	0.114	1.58	-0.126	0.036	-3.50
g2x4 (siblings)	-0.075	0.026	-2.90	0.018	0.033	0.53
g2x5 (black)	1.662	0.228	7.29	0.231	0.096	2.41
g2x6 (hisp)	1.308	0.204	6.41	-0.318	0.088	-3.61
g2x7 (mothers age)	0.018	0.008	2.20	0.021	0.007	2.88
g2x8 (male)	-0.203	0.103	-1.97	-0.550	0.063	-8.81
g2x9 (b-year=1962)	-0.481	0.131	-3.66	-0.057	0.058	-0.99
g2x10 (b-year=1963)	-0.534	0.137	-3.90	0.084	0.048	1.75
g2x11 (b-year=1964)	-0.739	0.144	-5.15	-0.180	0.050	-3.62
g19 (afqt)	0.802	0.090	8.93	0.411	0.053	7.78
g19 (income)	0.039	0.058	0.68	0.045	0.017	2.69
g19 (income sq)	0.001	0.004	0.33	-0.001	0.001	-2.21
g19 (non-school)	-1.094	0.062	-17.70	-1.231	0.043	-28.75
g19 (location)	2.699	0.462	5.84	4.960	0.377	13.15
g19(scale)						
Transitions - Age 22-25						
g2x1 (mothers ed)	0.023	0.018	1.26	0.041	0.016	2.53
g2x2 (nuclear)	-0 204	0 1 1 8	-1 73	0 113	0.075	1 50
g_{2x3} (rural)	-0.041	0.097	-0.42	-0 119	0.056	-2.13
$g_2 x_4$ (siblings)	-0.028	0.026	-1 10	0.036	0.035	1 02
g2x5 (black)	-0.020	0.020	-0.35	0.030	0.000	0.10
g_{2x5} (black)	0.001	0.177	0.35	-0.010	0.100	-0.60
g_{2x0} (mothers age)	0.005	0.190	0.51	-0.045	0.075	-0.00
g_{2x} (mothers age)	0.005	0.007	1 20	0.010	0.009	2.00
g_{2x0} (h $y_{2xr} = 1062$)	0.108	0.079	1.50	-0.210	0.068	-5.09
$g_{2x3}(D-year = 1962)$	-0.015	0.111	-0.12	-0.214	0.060	-5.54
g_{2x10} (D-yedi=1903)	-0.110	0.115	-1.01	-0.223	0.049	-4.52
g2X11 (D-year=1904)	-0.133	0.121	-1.11	-0.135	0.063	-2.10
g22 (arqt)	0.419	0.062	b./2	0.158	0.069	2.27
g22 (income)	-0.027	0.049	-0.54	-0.004	0.019	-0.18
g22 (income sq)	0.003	0.003	0.//	-0.001	0.001	-0.96
g22 (non-school)	-0.436	0.025	-17.42	-0.288	0.025	-11.62
g22 (location) g22(scale)	-0.299	0.368	-0.81	7.624	0.986	7.74

Table S11: continued		1979 cohort			1997 cohor	t
Type probabilities	Estimate	std. err.	T-statistic	Estimate	std. err.	T-statistic
Prt_1: cons	-26.365	4.970	-5.31	12.144	1.745	6.96
Prt_1: Initial hgc	9.276	1.882	4.93	-1.215	0.173	-7.01
Prt_1: Locus	-0.485	0.725	-0.67	1.209	0.231	5.23
Prt_1: Rosen	1.705	0.901	1.89	-1.153	0.162	-7.13
Prt_2: cons	1.653	0.341	4.86	2.559	0.348	7.35
Prt_2: Initial hgc	-17.378	5.101	-3.41	-1.208	0.171	-7.06
Prt_2: Locus	0.097	0.087	1.11	-0.164	0.011	-14.39
Prt_2: Rosen	3.689	1.179	3.13	0.002	0.035	0.06
Prt_3: cons	16.179	3.420	4.73	0.805	0.107	7.50
Prt_3: Initial hgc	5.104	1.333	3.83	-1.478	0.218	-6.78
Prt_3: Locus	-0.193	0.645	-0.30	-0.346	0.033	-10.42
Prt_3: Rosen	0.724	0.584	1.24	-0.110	0.008	-14.03
Prt_4: cons	6.252	1.000	6.25	0.195	0.028	7.03
Prt_4: Initial hgc	-0.744	1.522	-0.49	-1.442	0.177	-8.14
Prt_4: Locus	-2.743	0.448	-6.13	-0.240	0.027	-8.98
Prt_4: Rosen	-12.647	1.982	-6.38	0.172	0.026	6.65
Prt_5: cons	0.154	0.058	2.68	-0.105	0.012	-8.64
Prt_5: Initial hgc	-7.304	1.701	-4.29	-2.824	0.358	-7.89
Prt_5: Locus	0.015	0.036	0.41	-0.207	0.026	-8.00
Prt_5: Rosen	3.654	0.782	4.67	0.549	0.073	7.57
Prt_6: cons	15.903	3.555	4.47	-0.598	0.079	-7.59
Prt_6: Initial hgc	4.892	1.635	2.99	-4.398	0.582	-7.56
Prt_6: Locus	0.230	0.752	0.31	-0.138	0.020	-6.84
Prt_6: Rosen	-0.356	0.491	-0.73	0.889	0.115	7.72
Prt_7: cons	-15.676	2.925	-5.36	-3.966	0.565	-7.02
Prt_7: Initial hgc	7.994	1.685	4.74	0.587	0.108	5.43
Prt_7: Locus	4.208	0.633	6.64	-0.386	0.081	-4.76
Prt_7: Rosen	0.638	0.815	0.78	-0.671	0.117	-5.74
Prt_8: cons	0.622	0.097	6.41	-0.992	0.130	-7.62
Prt_8: Initial hgc	-2.648	0.632	-4.19	-5.256	0.711	-7.39
Prt_8: Locus	0.054	0.023	2.40	0.155	0.014	11.00
Prt_8: Rosen	0.861	0.294	2.93	0.900	0.110	8.17
Prt 9: cons	-0.126	0.019	-6.69	-5.901	0.817	-7.22
Prt_9: Initial hgc	-2.647	0.405	-6.54	0.834	0.120	6.97
Prt_9: Locus	0.364	0.067	5.42	0.644	0.117	5.53
Prt_9: Rosen	1.830	0.301	6.08	-0.528	0.150	-3.51

Table S12: Parameter Estimates for 10-type model - relative income

		1979 cohort			1997 cohor	t
Transitions - Age 16-18	Estimate	std. err.	T-statistic	Estimate	std. err.	T-statistic
g1x1 (mothers ed)	0.119	0.012	9.69	0.070	0.012	5.64
g1x2 (nuclear)	0.160	0.094	1.70	0.508	0.055	9.23
g1x3 (rural)	0.347	0.094	3.69	0.176	0.042	4.22
g1x4 (siblings)	-0.056	0.020	-2.81	-0.004	0.030	-0.15
g1x5 (black)	1.266	0.154	8.23	0.349	0.083	4.19
g1x6 (hisp)	0.658	0.138	4.77	0.026	0.097	0.27
g1x7 (mothers age)	0.029	0.006	4.85	0.021	0.006	3.48
g1x8 (male)	-0.145	0.083	-1.74	-0.183	0.047	-3.90
g1x9 (b-year=1962)	-0.170	0.097	-1.77	0.154	0.049	3.16
g1x10 (b-year=1963)	-0.332	0.090	-3.68	0.076	0.051	1.49
g1x11 (b-year=1964)	-0.238	0.097	-2.45	-0.016	0.058	-0.27
g16 (afqt)	0.531	0.063	8.41	0.360	0.039	9.26
g16 (inc q2)	0.203	0.097	2.10	-0.002	0.046	-0.04
g16 (inc q3)	0.377	0.100	3.78	0.296	0.041	7.17
g16 (inc q4)	0.530	0.111	4.80	0.240	0.040	6.07
Transitions - Age 19-21						
g2x1 (mothers ed)	0.132	0.022	6.01	0.085	0.016	5.45
g2x2 (nuclear)	-0.451	0.138	-3.26	0.378	0.070	5.38
g2x3 (rural)	0.228	0.113	2.01	-0.093	0.060	-1.54
g2x4 (siblings)	-0.068	0.026	-2.61	0.027	0.035	0.76
g2x5 (black)	1.803	0.218	8.26	0.318	0.120	2.65
g2x6 (hisp)	1.338	0.203	6.59	-0.171	0.068	-2.51
g2x7 (mothers age)	0.021	0.009	2.49	0.020	0.008	2.47
g2x8 (male)	-0.286	0.106	-2.70	-0.520	0.053	-9.77
g2x9 (b-year=1962)	-0.472	0.129	-3.67	-0.125	0.077	-1.63
g2x10 (b-year=1963)	-0.525	0.131	-3.99	-0.010	0.077	-0.13
g2x11 (b-year=1964)	-0.679	0.145	-4.69	-0.240	0.078	-3.09
g19 (afqt)	0.578	0.100	5.78	0.483	0.053	9.09
g19 (inc q2)	0.094	0.139	0.67	-0.007	0.063	-0.11
g19 (inc q3)	0.136	0.134	1.01	0.134	0.058	2.31
g19 (inc q4)	0.395	0.147	2.69	0.335	0.060	5.59
g19 (non-school)	-1.112	0.065	-17.20	-1.193	0.043	-28.08
g19 (location)	2.277	0.422	5.39	2.824	0.330	8.57
g19 (scale)	0.587	0.088	6.68	0.776	0.084	9.25
Transitions - Age 22-25						
g2x1 (mothers ed)	0.025	0.016	1.56	0.044	0.014	3.15
g2x2 (nuclear)	-0.183	0.104	-1.77	0.028	0.070	0.40
g2x3 (rural)	-0.064	0.092	-0.70	-0.114	0.049	-2.30
g2x4 (siblings)	-0.026	0.025	-1.06	0.046	0.032	1.41
g2x5 (black)	-0.060	0.166	-0.36	0.074	0.110	0.67
g2x6 (hisp)	0.000	0.102	0.00	0.086	0.079	1.08
g2x7 (mothers age)	0.005	0.007	0.77	0.017	0.007	2.31
g2x8 (male)	0.129	0.080	1.62	-0.159	0.050	-3.17
g2x9 (b-year=1962)	-0.012	0.102	-0.12	-0.308	0.080	-3.85
g2x10 (b-year=1963)	-0.099	0.103	-0.96	-0.254	0.079	-3.20
g2x11 (b-year=1964)	-0.118	0.110	-1.07	-0.164	0.080	-2.07
g22 (afqt)	0.414	0.059	6.99	0.183	0.052	3.49
g22 (inc q2)	0.036	0.090	0.40	-0.063	0.078	-0.81
g22 (inc q3)	-0.121	0.082	-1.48	-0.018	0.078	-0.23
g22 (inc q4)	0.000	0.080	0.00	-0.146	0.078	-1.88
g22 (non-school)	-0.425	0.025	-17.07	-0.275	0.023	-11.90
g22 (location)	-0.388	0.284	-1.36	5.949	0.611	9.74
g22 (scale)	-2.876	0.612	-4.70	2.602	0.100	25.99

Table S12: continued

1979 cohort

1997 cohort

Type probabilities	Estimate	std. err.	T-statistic	Estimate	std. err.	T-statistic
Prt_1: cons	-0.029	0.006	-4.92	-0.030	0.006	-5.38
Prt_1: Initial hgc	-2.087	0.050	-41.84	-2.316	0.049	-47.31
Prt_1: Locus	-0.039	0.006	-6.70	-0.032	0.006	-5.66
Prt_1: Rosen	-0.023	0.006	-3.97	-0.010	0.006	-1.69
Prt_2: cons	-10.356	3.148	-3.29	24.458	2.343	10.44
Prt_2: Initial hgc	5.045	1.435	3.52	-2.635	0.251	-10.48
Prt_2: Locus	0.319	0.726	0.44	-0.491	0.184	-2.66
Prt_2: Rosen	2.159	0.438	4.94	0.117	0.155	0.76
Prt_3: cons	0.234	0.083	2.80	1.114	0.096	11.60
Prt_3: Initial hgc	1.602	0.593	2.70	-3.755	0.357	-10.53
Prt_3: Locus	-0.194	0.045	-4.34	-1.786	0.143	-12.53
Prt_3: Rosen	-1.041	0.281	-3.70	-1.431	0.112	-12.78
Prt_4: cons	0.661	0.219	3.02	0.056	0.008	6.95
Prt_4: Initial hgc	2.830	0.860	3.29	-3.401	0.297	-11.45
Prt_4: Locus	-0.204	0.054	-3.77	-1.971	0.171	-11.54
Prt_4: Rosen	-1.754	0.487	-3.60	-1.795	0.157	-11.42
Prt_5: cons	2.492	0.768	3.24	-0.486	0.044	-11.01
Prt_5: Initial hgc	3.216	1.002	3.21	-4.346	0.388	-11.21
Prt_5: Locus	1.715	0.524	3.27	-1.944	0.173	-11.25
Prt_5: Rosen	-0.433	0.107	-4.04	-1.200	0.110	-10.93
Prt_6: cons	9.941	2.620	3.80	-5.033	0.471	-10.70
Prt_6: Initial hgc	2.697	0.847	3.18	0.409	0.048	8.50
Prt_6: Locus	3.451	0.977	3.53	-0.744	0.284	-2.62
Prt_6: Rosen	-0.101	0.257	-0.39	-0.223	0.134	-1.66
Prt_7: cons	2.566	0.698	3.68	-0.503	0.028	-17.77
Prt_7: Initial hgc	1.300	0.423	3.07	-2.364	0.127	-18.56
Prt_7: Locus	-3.386	0.990	-3.42	0.084	0.007	12.77
Prt_7: Rosen	-4.291	1.265	-3.39	0.403	0.020	19.83
Prt_8: cons	1.440	0.402	3.59	-0.916	0.057	-16.20
Prt_8: Initial hgc	-0.786	0.315	-2.50	-2.935	0.173	-16.94
Prt_8: Locus	-1.004	0.295	-3.40	0.322	0.023	14.11
Prt_8: Rosen	-0.579	0.137	-4.22	1.077	0.071	15.19
Prt_9: cons	-10.427	2.453	-4.25	-0.805	0.058	-13.83
Prt_9: Initial hgc	4.735	1.391	3.40	-2.207	0.156	-14.16
Prt_9: Locus	5.460	0.823	6.64	0.584	0.035	16.60
Prt_9: Rosen	1.298	0.475	2.73	1.034	0.064	16.15